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With the developments of modern high-speed computer, X-ray tomography and MRI(Magnetic
Resonance Imaging) are widely used as a deterministic tool of medical diagnosis. On the other side,
EIT (Electrical Impedance Tomography) is now developing mainly for industrial use. Fundamental
difference between them is that MRI or X-ray tomography needs not to handle the functionally mea-
sured data, but EIT is based on the functional nature of the measurable data. Namely, EIT requires
a solution of ill-posed system equations but MRI or X-ray tomography never require the solution of
such the ill-posed system of equations. Because of the reliability of obtainable tomography, EIT is
not emploied to the medical use. Even though EIT does not give the reliable tomography, United
State of America, England and the other countries are still developing the EIT. In particular, EIT
is intensively developed as one of the national projects in China. EIT has several merits compared
with that of MRI and X-ray tomography from a viewpoint of the cost and simple electromechanical
structures. If it is possible to obtain the reliable solution of ill-posed system equations accompanying
with EIT, then EIT may be used not only the industrial use but also medical use. In the present paper,
we propose one of the most reliable solution methodologies accompanying with EIT development.






U O

010

020
21
2.2

2.3

030
3.1
3.2
3.3

040
4.1
4.2
4.3
4.4

4.5
4.6
4.7
4.8
49
4.10
411
412

050
51

52

ao

gboogobgoooooboo

OO00O000O000O0O00 ..o e e e e e e s s e
SensitivityTl O O . . . . o L L e
221 Sensitivityd OO OO0 . .. 0o e e e e e e e
222 Sensitivid OO OO0 . . . 0o e e e e e e e e e e e e e e
OOOOOO o e e e e e e s s e
231 000000000 .. e e e e e s s e
232 00000000000 . .. 0 e e e e e e e s e e
233 O0D0O0O0O0OODOOOODOODO0OO .. e s s e s e

gooobgooogn

OOO0OOD0O0 .. e
GVSPMO . . .
U0O00000000000 .. o0

00oooooooooooooboooo

OO0000OOO0 . o0 o e e e e s s e s e
Poissod 0O OO0 Laplaced O OO . . . o vt o vt e e e e e e e e e e e e e e e e
OO0 o e e e e e
OOOOOO o e s s s e e e
441 O000O00 . .. e e e e e s e e e e e e
442 000000000000 .. . o e e e e e e e e e e s e s s e
443 000000 . . . e e e e e e e e s e e e e
444 0000000000 . .0 e e e e e e e e e e e e e
O000000 Poissord OO0 . . . oo e e e e e e e e e e e
I 0 L
OO000000000 . .0 e e e e e e e s e s s e
OO0000OOO0 . o0 o o e e e s s s e e e
OOOOOO0 . . 0 e e e e e e e e e e e e e e s s e e e
OO000000000 . .0 e e e e e e e s e s s
OO00000000000 ... 000 e e e e e e e s e e s e e
OO0000O0O0O0O0 .« 00 o e e e e s e s e e e e

gogooobobboogaooo

I 0
511 00000000000 ... e e e e e
51.2 Sensitiviyd OO OOO0OO00O00O . ..o 0ottt et e e e e e e e e e e
51.3 0000000000 00000 ... e e e s s e e e
514 0000000000000 ... e e e e e e s e s s
I
521 O0O0OO0 .ottt e e e
522 Sensitivityd OO OO0 . . . oo e e e e e e e

11
11
11
13

15
15
15
17
19
19
20
20
21
21
23
25
27
29
30
31
31



060

Ooo0A
Al
A2

523 O000OOODODO ..o e e s e e 46
524 0000000 .. e s e e s e e 50
uo 51
Sensitivity 00 0000000000000 53
I 53

googobgooog 55



010 OO0

00000000o0oooooooogd (Tomography Technology) O 0O O X O CT(X-ray Computerized Tomog-
raphy)d MRI(Magnetic Resonance Iimaging)0 00 0 0000000000000 O0OO0ODOOO0OODOOOO0O
goooooooobooooon
0o0000opoOoo0dOo0oooooo0U0oooo0o00ooooo0oooooDooOoooooXgcCcroo
oobOoooOXoOoooooobooobooboMRIODOODOOOOOOOODOOODOOODOODOOOODO
gobbooooooboooooobooooboooooooog
gooooobooooooooooobboodoooooooooooobooooooooooooon
000000000oUooOoooooooooooooooo (Electrical Impedance Tomograpyp OO 000400
0 00000 (Capacitance Tomography)d O 0 0O 0O O O O (Magnetic Tomography)l OO0 0000000000
goboooooobboooooobooooon
gooboddooooooobobbbob oo o bbb bbb oooooo
gobobobooooobobobooobobuoboooboboboobobobOobobooUobDoOoboOobo
000000000004 (Functional Tomography) 0000000000 O0ODOOOOOOO0ODODOOOOO
goooooooooboooooobooooooboooa
goooobooboboooooboboboooooobobooboboboboobobobboon
gbooboooboooobobobuooboobobooooboobobooobobobobooobOobOobobo
gobooboooboboooboobobuoooboboobobooobDboobObUooobbooboDboUooboo
Poissomd 0000 LaplaceD OO0 0000000 0ODOOOODOOOOODOO
XOCTOMRIOODOODODODOOODOUOUODODOODODOXOOUOODODOODOoOOoooXxoooooooo
gooobooooOoobo0obOo0ooOobooUdbOoU0bOoUoO0bOOoUoDOobObOobUoUooOOobooboogoOoX
OCTOODODODODOOO XOOooOoooXooooooooooooooooooooooooooo Xo
0000ooooOoooooooobOooo Xooooooooooooooooooooooooooooo
XOOOOOoooOoooOoobooooOooobooooooo XobooooXxoooooooooobooo
o00Od0o0OO00ooOOoboOdboOobOo0o0bOoXOobooooooooooboobooboooooooo
00o0o0o00oobooo Xoooooooooobhooobooooooooooboooooooooooa
(Inverse Fourier Method) 0 0 0 0 0 0O O O (Weighted Back Projection Methad)RadonO O O (Radon Transform
Method) D O OO OOODOOOOODOOOOOOOOO
gooboooboboooboooboobobobUobooobobooDoODoobUboboboobobDoDbooOoo
doddddooooooooooooooooooboboboboboboobobobbooubboobobboboooooo
gobobooobobooooooboobobobooobooooboboboboobobobDooboOobo
goooooboboooobobobooboobob0obobo0obobDooboobobobobooobOobo
O000000oooo0oo000o0o0oooo0000oooDooooOogood (Inverse Probrem) OO 00O
gooodooobbboooobobuooobooboobooo
O0000ooo XocCcTooooooopoooooooooooooooooooooooooooooo
oooobooobooboboo

0000000000000 0DD000000000000D0D0DDD0000000000o0o00oooo
000000000 0000000000000000000000000000000000000oooa
goooW
0000000000000000000000000000000000000000000X 0O CTO
MRIOOOOOOODDDODOOODODOODODDODOO00000D0DD00000000000000DDoDono
0000000000000 00000000000000O0D0000000DDDo0o0o000000ooon



2 010 OO

obooobooooobooboooooooon

OO0OXOCTOMRIODODOODOOODDODOODOOODOOOOOOODDOOODODOODODOOOODO
oooooooooooooDooo0oooobooOo0ooooDbOoOoo0oooDooXocroooooooooo
OO0o00O0O0 XOoooooooooooooooooooooooooooooooooooooooooo
goboooboooooboooboobooboooobooooooboooboboooboobooobooobobooDn
gobooobooooooooboobbooboobooooooooobboooooooobDOoobooOODboboODo
uoboobooboooboobbooboobooboobooboobooboobooboOoobOoOoDn
ooooo

0000000000000 00000000000D00O0OQOSensitivityD 0000O0O0OOOO Sensitivity™
ubobobobooooooboobooobobobooboooobooboobOobuooooooboOobOoboooboon
OO0O0O0O0O0OO0OO0OODODOO sensitivityC O)OOOO0OO0OO0O0O0O0O00O00OO0O0OO0OO0OOO0O0O0O000OOOCOO
oboooooobOobooooooooooboobobobooobooooooooooOoooboobobobobooon
SensitivityD 0000 0000000000000 0OO0OO0O00O0OO0OO0OO0O0O0O0OCOOOOOOO0OOOOOOO
uobooboobooobooobooboobooboobooboobooboobOoobooboOoOoDn
oboobooobooobOooooooOoooooooboboooooboooobooobobooobooobooboOoonn
gboobooboooboobobooboobooboooooboboooboboooooboooo

SensitivityD OO0 000000000000000000000O0O0O0O0ODODO0O0O00000O000000
000000000 000000 Sensitiviydl O000000000O00OO0OOOO0OO0OOOOOOOOOOOO
0000 Sensitvityd D 0000000 Sensitivtyl 0 O0O0000000000000OO

000000000000000000000000 SensitivtyDl 0000000000 Sensitivityd 00O
goboobooooooooooooboooobooboooboooboooboboooooooobDOoODbboODO
oboobooobooooboooobooboooboobobooboobooboooobooobooboOooboOoonn
0000000000000 0000000000o0ooooooOoOoODsSensitvtydOOOOOOOOoooQO
oobooobooboooooboboobooboobooboooboobooobOoooboobOooboOobOoODn
oono

000000000000 sensitivtyl 00000000000 OOOODOOOOOOOOODOOOOOOO
gobooboboooooobooooooboooboooooooobooooboobooOoboOoboobbOODbOoODbO
uobooboobooobooobooobooooooooooooooooboooooobooboooboboonn
gboooooooboboboooooooboobobooooooobooboboooooooboooboOobooboo
oobooooobooooooboooboooboooobooobooobooooobooOoboboooboooboOoOonn
gobooobooooooboobooboooooooooboooooooboooDoooobLoODboboODo
gbobooboboooboobooooboooobobooboobooooona

oobooooOoooOoooobooobOoobOoobooobooobOoobOoobO0oobOoobOOoobooboon
gobooboobooooooboobooboooobobooobooboooboooooobOoobooboOoDn
O000D0D00OO0O0OSensitivtyD 000 0000000000000 0O0OO0OODOO00000000OOODOODOO
gbobooboooooboooboobobooobooboooobooooboboooboan

uobboooboboooboobboooboboobobooobbooobbooobboobobooooon
SensitivtyD 0000 00O00000000000D0O0O0O0O0OOOO0OOO0OOOO0O0O0



020 00000000000

21 DO00O0OO0OOOOOObODOd

ooboooooooboooboooobooboobooooboooooobooooOoOobOobOoooOoboOoooooboon
gobooooboooooooboobooboooooooboooooooooboobooooboobooDOoooDO
obooboooboooooboooboobooobooboobooboobooboobooobobooboOoonn
oobooooooooooobooobbooboobooooooooobobooooooobooobooboonn
gbooooboobooooboobobbooboboooooboboooboboooooboooo

OO0000o0o0o0o0oooooOoo XocCcToMRIDOOODODOOOODOOOODOOOODOOOODO
bobooboboobooboooooboobooooboooooboobooooboobooobooboon

0000000000000 00000000DDODO0O0O00DD sensitvtydODODDODOOOODODOODOO
SensitivtyD DO OO 0000000000000 00O0O0O000000000O0O00000000000000
0000000000000 O0O0O0O00000O0O0O0O000OOOooD sensitivtyD OOO0OO0OO0OOOO0O
oboocooOoboooboobobooobooboooobobooooboOobooooon

2.2 Sensitivityd 0 O
2.2.1 Sensitivityd 00000

SensitivityD D0 0000000000000 O0OOOOSensitivtylOOOOODOOODOoOOoOoOoOoooOOOd
OO0 Sensitivtyl 00 0000000000000 O0O0000OODOOOOO0OO0ODOOOOOOOOODOOOO
0000000000000 0000oooo000000ooooDo0000o0ooOOg SensitivtydOoOooOdO
gooobbboooooobbbbooooubbbboooooobo

goobooobobooooboo0obooooooooDbooooDbo0ooDbObOooUbDbooUobboOoo
0odoooooboooooboooboboooobboobobooooDb oo booooDboooooo
goobddoooooobbbooooogooooooobob bbb oobbooo
OO0000000000ooO0oooooodsSensitiviyd 0000000000000 0O0OO0O0OO0OOOOOO
00000000 00oOooooog sensitivtylOOOODOODOOO0DOO0DOOO0OODOOOODOOOOOOO

OO0D00O0SensitivtyD 0D OOO0O00O0000O00ODO0O0OOODOOOOOOOOOOOOOOOOOON
gooooboobuooboobbob bbb bbb b oo b oobUuoo
OO000000000000O0o0O0o00SensitvtyDOOOOOD0O0OODO0OO0OO0OO0O0O0OO0OO0OO0OO0OOOOOO
Sensitvityd OO0 0000000 O0ODO0O0OO0OODO0OOODOO0OOODOOOOODOODODOOOODODOOOOn
gooddooooobboboob bbb oo ooooobobboooooooooo
gooodooooboboooooobouooooon

O000dDO0oDoo0o0o0oOooOooooOooooooon (lposed Linear System Equation)D 0000000
O00000ooooooooooooon (InverseProblem 000000000000 OOOODOOOO
gododdooooobbbobobbbbbdddddddogdobbbbbobbbobobooobooooboooooo
0ooodoooooboooooooboooooooboooooobouoooooon

goodobobobooooooboboobtbooooobobboooooooobobbooo



4
2.2.2 Sensitivityd OO OO0

Sensitivtyl 0 000000000000 OOODOOOOOOOOOO
gboooboooobooboobooobobooboobobooobooooon
0000000000000 000 SensitiviyDOOODODOODODOOODODO
gbooobooooboobooboooboboooboooobooogon
ooo

0.2210000000000000CCO000000O0ODOOOOOO
0000000 oSmOOOOO0OO0OO0O0ODOOOOOOOOOOO
ooooOoOobOOo00oOoO0bD 120000000:0;000000000O

uagoboboboogoobooboogad Z&[Q]DI:I[IDEI.Z.Z.Z]DDDD

ooooooooOD0O0O0 »0000S/MODOOOO0OOO;O000

020 0OOO0O0OOOOOODOO

o0o0o0o0oooOoooooooooooooo zZz+QUooooo.221 0220000000000

J
ooob22200000000000000D0000000DOOOOD

Z;7[Q)00 (22)000000000

Ty Tn a
Zm =20 — 72 (2.2.1)

0(221)0000000000000000000000000000
00000 (2220000000

125 — 2

e 2.2.2

Yz =7y (222)
D

. 2.2.3

B Do (2.2.3)

0000000000000 0000000000000000000
000000 2z, -z, 0000000000000000000 r,
000 D, [m?]0000000000000 Dgy[m?l000000000
400000000000000000000000000000000

googan

5
SO

6 SN2,

e

AN
=
NAFAAA
<]

\_—

= A\§

I

X7 (i "
SV NI
GRS

iy
10

0222.0000000000
oo

oobOooobooooooobooobOoobO0oobO0ooboobO0oobOOoobO0oobO0o0obOoobOooDbOoOonn
goboooboooobooobooboooboooboobooobooobooboooobooobooobooDbboODn

O0o0000000000000
0 (2200000 8

i
5J

Oo00o0oo0opooo«0 ;0000000000 r,0 Sensitivityd JOOO0OOO0O

00 SensitivitydOOOO0O¢0;00000000000000000CO0O », 00000000000 Sensitivity
gbooboobooboobbooboobbo kODDOOODLOOOD «Dy0OO00DO0ODLOODODOOODOO

00000000 Z[Q 00 (22500000000000000

! T1 T2 Tk

2z 4 Sth S1A - 51N

! T1 T2 Tk

Zi Sih S o 5%

/ 1 To Tk

Zij Siy Sth - Si
Z =Sk

R1

K2

Kk

(2.2.4)

(2.2.5)

0.22000000000 12000000000 0000000000 (12x(12-1))/2=6600000
000000000000 3120000000000000000k=31200000000 Sensitivityd O S
OO00e66000 31200000 (225 00Sensitivtyd 0000000 OO0OOO0OO0OOOOOOOOOOOOOO

0(250000000000000000000000000 «xO000000O0O0O0OO0OOOO Z[Q0
SensitivityD 0 SOO00 00000000 «000000000000000D0O0O0OOO0ODO (22500000
O0000O0O000oOoO00ooOO0000ooO0o0ooO0o0ooOOo0oOoO0o0OoooOoOoon Sensitivity
OOo0O0O0OOoOOoOOoOOOOOsSensitvtyDOOOOOOOOOOODOOOOOOOOOOOOOOOOOOOO



2.2. Sensitivityd 0 0O 5

oobooobooooboooboobooboobooobooobooobooboobboobooboooboobOooDn
oood

SensitivtyD 00 0000000000000 O0CO0O00O0OO0OOO0O0OOO0OOOOODOOODO Sensitivityd
obooooooooboooooboobooboobooboooooooobooobooboooooooOoooag
oooobooboooobooboooonoo

SensitivityD 0000 0000000000000 000000O0O0O00O000O0O0OO0O0O0O00O0O0OOOOO0
obooboooboooooooooboooboobbooobooboobooboooboOooboobooDn
0000000000 DOOO0O0O0O0000O0OOO0SensitivtyDd 0O OOOOOOOOOOOO0OO0O0O0O0O0OO
gbooooobooooboobooooobooboooobooboboooboooboooooon

obooboobooobooboobooboooboooboOoooobooboobooobooboon
gooooo0ooOoOoOoooooOoOoOoUoOoooOo0oOOoOOoUOUOOODO0O nOOOOD0OO (226) 000
oobooooboooobooboobobooboooooooooooboooooboooooboooobooooobooOooobooOoon

n!

(2.2.6)

n—1
Number of patterns-
P ; n—rl

000000000 (25000000 sensitvtylOOOO0OOOOOO0OOOOOODOOODOOOCOO
0000000000000 00000000000O0CsSensitivtyl 00O OOOO00O0O0O0OOO0OO0O0OO
goboobooooooboooooooboobooooooooooboboooboobooDboobooboODbo
gobooboobooooobooooooboooboobboooooooobooobooooboobooboonn
0000000000000 0000000OoOOOOsSensitivtyDOOODOOO0O0O0O0OO0O0O0O0O0O0OO
obooooobooog

0 (225000000000 «000000000SO0000 Z0000000000000000O0O0
SOO00oOooooU0U0OooooOooUUUoooooU0Uoooooo0ogooooooogg (Mpose)d
O0000000000000O0 (InverseProblem 000000000 OOOOGVYSPM(Generalized Sampled
Pattern Matchingl 0 000 0000000000000 O0OOCOO0O0O0DOO Sensitivtyd OO0 GVSPMO OO
O0O0O00OONewton-RaphsoR OO0 0000000000000 OO0OOOOO bongOOOOOOOOOODO
[2,3,4500000000 (2250000000000000000000000OO GvsPMOOOOOOO

00000000000 0000000D0000000Sensitivtyd OO0 GvSPMOOOOODOOOOOO
0000o00o0o0o0oOo0o0oOo0ooOo0oOo0OoOo0oOoO0o0OOo0OoOoOoDooOOoO"DooO"ooooo
oooooo

0000000 (2250000 SensitivityD O SOO0D0O0O0O000O0O0OO0OO (Finite Element Method) O
ubobooboobooobooboboooboooooboobooooooboooooboooooboooboOoobooboonn
goboooboooooooobooboobooobooooooooboboobboboobooboooboonn
gboooboboooboboooooboooooboboooobon

0000000000000 00000000000000 (227)00000000000000000 PO
oo vvl]ooOoOOOOOOoooooOoooooooooOo 227000000ooooooOoooooo
RQUOOO0O0OOOCOOOODODOODOOOO PUlODO0OOOOOOOOOOOOOOOODOOVIVIOOO

goooooooooboooooooo
V2

P=VI
R

(2.2.7)

OO00OO0COCOCOQOQOQ0O0O0 2200000000000 4+=40,=800000000000 Sensitivityd
O000000.223000000Sensitivityd 00000000000 O0OOO

0.223000000000000000000000O0O0QOOO0O0O0 SensitiviyD 000000000
O000000000000000000000 Poissord000OLaplacel 000000000 OOOOO0O
ooooooooooboogooooogon.223)0000goooo0oooonooo

0.223100000Sensitivtyd 000000000000 0OSensitivityD 0O0O0O0O mO00000000O.2.24
gooo



6 . 020 0D0DODO0DODOOO

-~
P>
P9I .
dddrove¢

QI IINOEE
Pow oI IOE ¢
¢seesssenee




23. 000000 7
23 O00OOOOO

231 O0OO0OOOOOOO

2200000000000000000000O00O0O0D00O00 SensitivtydOOOOOODOOOOOOOO
gboboobobooboobooooboboooobooboobobooooboboooboOoboooono

ooboooooboooooooooboboooboobooboobooboooboOoooooooOooboooon
gbooooooooboboooooooobobobooooooooboobobobooooooooboboboo
obobooooboobooooooooboooobooobooooboooboo0ooboooooobooobooobOoOonDn
gooood

oboooooooOoobobooooooooboobobooboooooooboobobobooobooooboOoono
gobooooboooooobooobooboooboooboooboobbOoobbOobOoOobOoobOooDbOODbO
00000000000 000000O0O00OOOOSensitivtyDOOOOOOODOOOODOOOOOOOOOO
gboooOoboooobooobooboobooon

oobooobooooooboooboooobooboooobooobooooboobooOooboooobooboobobooboon
obooboooooboooooobooooboooooooooooobobooooooooooDooDOoODo
goboooboobooboboooboooooboooboobooobooooboooboOoooOooboooboonn
gbooobOobooooboboooobooboo

232 J0OO0OO0OO0OOOOODODO

gbooooooooboboooooooobobobooooooooooboboboboooboooboooboDo
uoboobooboooboooboooobooooooboooooooOoobooobooooobooobooboOooDn
oboobooooooooboobbooooooooooboooboobooboobOoooboooboonn
ooooobooooboobooboobooboooooboooobooooboooobooobooboooboboOoDnn
goooooboooooboooon

VA(za y)

Vel(z,y) .
I I
+d|pole

c.0ooooooooo
023100000000000000000

ee

a).00 A b).0 0O B €).000000000000

02320000000000000

0.231a00000 ADOODODOO I[A]00000000000D0O000O000O00 Va(z,y)VIOOO
000000.231bh)00000 BOOOOOOOODODO I[AJOOC0O00O0OOCOOOU0ODOOOOODOO



8 020 0OOO0O0OOOOOODOO

VB(JC,y)[V]DDDDDDD BUO0OD0 A0U0D0O0OOUOUOOOLUOOULOULOUOUOUOLODLODOO ADODUODUOODOO B
J00o0o0ooooooooooooooooooooooooo Vc(x,y)DD(2.3.1)|:||:||:||:||:||:||:|DDDD
000000 Ve(e,y) DOOODO0O0OOOODOOOCOOOOO0.23.0000000000000.23. 2000
goooonoo
Ve(z,y) — Va(z,y) = Ve(z,y) (2.3.1)

Ogo0oo0ooooooooooooooooooooboooooooooooooooooobobooooon
gooo0oooooooooooboooooboooooo0oooooooooobooooooOoobooooooo
Vc(li,y)DD|:||:||]DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
O000000o000ooooo0oonooo.2320)000000oooo0oooooooooooooooon
0.231lc000000000000OCO00O0OOOO0OODOOUOODOOOOODOO

go0oooooooooooooooobooooboooooooooooobooooooooooooooon
0000000000000 000000000D000DoO00O0DoOoo0oDoOoOOoooOon |[e,7,8,90

Fig23.300000000000000 (23.2Q000000000
00VeV] 000 Q[C]000000000000 +[mO000000 P
POO0O0OODODDOOODODO(HmMIOOODODOODOOOOOdmIOODO r
gooooooooooooooooooo

Vo = Qdcos b

(2.3.2) f

4mer?

oooooooO0ooo0oooOo0oooDooD Xgooyoooooo (-Q A+Q)
ooooooooo.23400000000000:0000D00C0O

Q:00000000@Q;0000000 00000 Vy[V]0OQ;0 023300000
X00Q,00000 VM DOYDOOQ, 00000 Vy,[V] OO0
0oooo Vija

0000000000000000000000000000000
0000000000000000000000 X000y oooxo
00000000000000000000000000000000
0000 (232000000 (23.4000000000006 = 4reO
ooo

le
17 Giie Giiy - Gimz Gimy Q1y a).X component of Dipole
‘/2 G2la: GZly o G2ma: GZmy :
| o o (233) Vi,
Vn Gnlx Gnly e Gnmx Gnmy sz
L Qmy |
V =GQ (2.3.4)
cos ;.
Gijz = r,2,J (2.3.5)
ij
Giyy = Cosfijy _ Sinfijz (2.3.6) b).Y component of Dipole

r T

ij ij
booobooooboooobooooboooboooooaon

00000000000 (234)0000000000000000O §m]C

000000 F/m O Gi;,0G,;,000000000000000000000000000000000¢[F/m]

0000000000000 0DooO000oDDo00oDo0O0n0éd=4re000O0O0O
0((34)0000000000000000000OOO0OO0O000OOOODOOOOOOOOOQ[ClOOD

gooGoooOoOoOoOoOooOoovvioooooooooUoooooooOoUooooooooDoooooooo

cooooooooOoOoooOdOooo0o0bD GoOooOoooOoOoDoOUOoODoOOoUOOooObDOoOoDoOoOoDoDOO

0000000000000 0000000DO00000O00OOOOSensitivtyDOOOOOOOOOOOOO

ooooevsPMOODOOOO

023400000000000
oood



23. O0O0OOO
233 U0OO00OO0oOooOOooOOobOobOooO

Sensitivtyd 0 0000000000000 O0OOOOOCOOOO0OOOO
000000000000 (225 0000000000000 DO0O0OOODOO
ooooboooooboOoboooooboooobooboooboboogooo I
gbooobOoboooooboboooboobooooobooooboOoooon

0.23530000000000000 1200000000000000
ooodooooooooonL-gkoood edOoboODOObOODOOOO
0000000000000 0.236@0000000000O0ODOOO
Oo0o0O00ooooooooooOd L-lgO0OO0O0OO0.236b)-go00d

obooooboooboobooboooooonL,00oboooboooooooon
omoooon

I,
Is I3

I

I3

I

Ig

I
I, °

0.236b)-gq0000000000000000O00O0O0O0O00OO00On 0235000000000
000000000000000000000000000000O0Ooog Huoooooon

0000000000000000.236b)gUI000C00O0O0OO0O0OO0O0OOOODOOODOOOOOOOODO

gbooobooboooboboon

NRIAN
v,
AV
A \\\\\ Vit

AR
PSRN \\\\\\\\
NN
~OD \

/
v
)
W
AY

a).0000 b).0° c).30°

AR
\\\\\\\\ N
O
RN TN 1yt

=

SN AR
9 O
. STODON LAyt
P RN \\\\

>
i
/

\
|
/ '
A i \
/ / \ /
LTI N

I

€).90° f).120°

0236000000000000

RN
\\\\\\\\ [N

/
Pyl
\

N AR
RN

[
P
-

T

¢

W
18T

<=
w2

S

\
NN
N
-t
«
Ve
i
-

=
7
A%

Pt

d).60°

\\\\\\‘\\H' \//

N s
SN U
Do

SRS ESN

~ SO
S \\\\\\\

=

e J

/
“
s

YR, i

TN
Lt g
Pty

9).150 °

0 (3400000000000 QUUUOLU00U0UULOUOOOODOOUOOOOOOODODOOLODLO
gobooboooooooooboobooooooooobooobooboooobobooboooooOoDoDO
gbbooboboooboobooooboooooboobooboobooboobobooboobooooobOoobooo

00000000 (234)00000000000000000OOODOO0OOODOOODOOOODOOOOBO
gooooo0oU0U00ooooooooooOOO0OO0O0O0000OU00O0O0O 23 70ooooooOO
00000 (convolution)D O OD0DOOO0OODODODODODOOODOOOOODODOOOODOOOODOOOOOOOO
obooboooooobooooooooobooboobooboobooooooobooobooboonn

000000000
Z2=71975...® Zy)

(2.3.7)

gobooooooooooooooboobooobooboboobooobboboobooboooboboooooobooogD
goboobooooooboooboobooboooooboboobooboobooboobooooobooobooDn
n000000000000000O0 »/200000000000000000000C0.23310000000
ooooooooobD120000000000O00O0O000O0ODOD0OO0ODOOD eO0OOOOO






11

030 ODOoooooood

31 DDOOoono

020000000000000000000O0Sensitivtydl 0000000000000 0OOOOODOO
oo oo uoooooboooa

0000000000000 00O00OOUONewton-Raphson 0O 0000000000000 OOOOOO
000000000 GVSPM(Generalized Sampled Pattern Matching) 0O O 0 0 0 0 O GVSPMO O Sensitivity
O00D000000O00ONewton-Raphson D0 0000000000000 O0OOOODOO DongOOOOOO
ooooooglzsss

Newton-Raphsonl O 0 00 0000000000000 00OOCOO0O0OO0OOOOO0OOOOOO0ODOOOOOOOO
Jdo0oooooboo0oob0booooo0obooobb0o0oobDboooUbObO0ooUbDooOoUbboOoo
0000000000000 000000000000o0oUoonO f(r)=000000000000

gooooooboooodooooooooooooo b0 ooooooon
oooo0obo0ooboboobbo0ooobObooobobooobDbbo0obDb0ooUobObooUoboDbooooobo
Joodooobboooooobobobbooooooooboooood

Newton-Raphson O 0 0 0000000000000 O00DOOO00ODOOO0OODOOO0ODOOOO0ODOOO
gooboooboooobbuooobboooobbobob bbb bboooUbboOoo
Jooooboboobobboooooobob bbb oObboooooooo

gooooobobooobbooooddoooogooooboob bbb ooooooo
0o0oooooooobooooobooooooboooooobouoooooooon

0000000000 GvSPMOOOOUOOOOOOODOOOOOOOOOOODO O Newton-Raphsonl O O
do0o00o0bOOoobOOoOobOooooooDoGevSPMODOOODOOn—-10000000000O00n0O00O00
goooobbboooooooooooooooobbbooooooooobooobboooooooaon
gooooboboooodoooddddodddodoooooobo bbbt ooooooOoo
Joooobobbooooobobbbbobuooooooooboog

GVSPMO O OOOONewton-Raphsol 00 0000000000000 O0OOOOOOOOOOODOOOO
goooooooooboooooobooooooboooa

3.2 GVSPMO

0 ((321)0000000 CO0000UooooooooooO YD COoOOoODOOOUOO Xboooooo
O0o000O0O0O0OD0O0O000 3.2)0000000D0D0D0D0OD0DO0DO0O0O0O0O0O000O0

Y =CX (3.2.1)
Y1 Cii Ci2 ... Cin X1
Y2 Cor Co ... Copy X5
L= . . . . (3.2.2)
Yn Cnl Cn2 .. Cnm Xm

0 (3.21)00000XOO0OOoOoOo0O0OO0OOOOOOoOoyYOD CXooooooooooooooooovyo
oooooboooogon



12 030 OOoOooobooogooo

Y1 Cn Ci2 ... Cin X1
Yo Cor Co ... Copy X5
. X . . . . . (3.2.3)
Yn Cnl Cn2 o Cnm Xm
1
Y2
= x[m Yo .ei Yn (3.2.4)
Yn
=S 2=y (3.2.5)
i=1

0(3.23)0 XO0OOOOO0O0O (3.250000 YOOOOOOOOOOOOOOOX000000000O X
0YOOOOOOOOOOOOOXOOOOOOO0O00YO X00000000000000o000ooooo
O0000000O00ooOXoooooooooo
O00O0OXO0YOOODOOOOOOOOOOOOOOOXOYOOOOOOOOOOOO0OOoooo0oooo
000000000000 00000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000
0000000000000 000 XooooooooooooooevseMOOUOOooooooooooo
O0000000000XO0YOOOOOOOOOOOO0O00O0000000000000000000000
000000XO0OOOO00O0O0O0OO0YOOOOOOOOOO0OO0O0O X00YODOOOooO0oooooo
Of0o0ooXOoooooyooo coooooobooouooooouoooooo

0 (323000000000 (3.26)0000000
Y [ex 1" o o
|ﬂ[wx]"me] (3.2.6)

0 @21)0000 cOoOo0O00 G 00o0ooQoOoOooO0OD B28ypoooooooooog

1 X1
Yo Xo
_ =[q C, ... Cn , (3.2.7)
Yn X
Y=Y xc, (3.2.8)

0 (3280000 YOIO00000000 (321000000000

Y G|, C
1Yl - ; |Y||Xi ICi| (3:2.9) X = ||CY1|| i
wzfpm; (3.2.10) x=[x{ xp x|
0000000000000000000 (3210000000
Y = X! (3.2.11)

021)0000oYooU0oooX' oY UoooouooooooX' oy oooooooooooooo
000000OX'0VYOoOOoOOOoOooooooooooooo X o0ooooooooooo
k0000000000000 AY®OO0O0O0YOOOCO E—-1000000000000 X®Oooo



33. D0O0O00O0OOOO0DOO 13
000 B212po0o0o0o000000000O

(k—1)
AY'(F) — vy _ &
x|

= C'AX'R) (3.2.12)

0000 AX® o k-1000000000000K*Y0oo0000000000000000 3.2.170
000 AX'® O0ooooo0o000000oDoDoDnoDoDonooooonooooAX® o rk00000o0o0oooo
AY® O0ooo ¢000000000000000000000

X/(K) — x/(k=1) 4 Ax/(R)
= X/(k=1) 4 /T AY/(F) (3.2.13)

OO0ooooo0o0ooDoO0ooooo0oooDbo0o Xooooooooooooboooo

3.3 0000obooooogoo

oopDooooooo evsbPMO O OO
gdoooOooboobooboooooo wep
O (Linear Back Projection Method)NR O
(Newton-Raphson Method) 0 0 OO OO
0o Mo

0.33.00000000b0000n
goooobobooooboobooood
0000.3.3.1(20 LBPOOO.3.3.1(3)
ONRODODODODODODO.3.31
4ooooo evsePMOODODOOO
0331(oooooooooooog
ogoooooobooooobooooood
o000 eGvsSsPMOOOOODOOODOO
0O000oooooo0oo LBPOONROO

(a) Center (b) Bottom (c) Dispersion 0000000000000000000
(2) Reconstructed images by LBP

(a) Center (b) Bottom (c) Dispersion
(1) Model Medium Distribution

(a) Center (b) Bottom (c) Dispersion
(3) Reconstructed images by NR

(a) Center (b) Bottom (c) Dispersion
(4) Reconstructed images by GVSPM

0331:000000000000D0O0000DO






15

40 0OOo00oouoouooboooouood

41 0O0OOO0OODOO

0000000200000 SensitivtyDOOOdOoooooOO
gooooooooboooboobooboooooboobooogoooo
gboboobOobooboooobobooooobobooooooboon
obooooOobooooobon

oboobooooooooooooooooooboooboobobon
gooooopobooooooboboobooooobooboooooon
gboboobOobooooooboboocooobobooooooboon
gbooooooboboooooooboobobooooooooon
oono

gooooooboobooooOobOoboooboooobooooboooog
gboooooooboobobooooooobobobooooobon
oobooooooooobOooboooboooobooOo0oobO0oobOoobOOoobO0oobO0oobOoobOooDbOoOonn
goboooooooobooooooooboobooboobooboooboobooboobbooboboboobooDo
uoboobooooooooboobooboooooooooboobooobooooooooobooboonn
gbooobOobooobooboooobooboooogn

ooboooboooooooboooboooboobooboboooooobooboobooobooOoobooooboboon
goboboobooooooooboooboboooooooboooboooboooooooooooobDoODbOoODO
gboooboooobooon

\
EV N
NN

<3

041.1:.000000000000

uboboooboobaboboooooobaoboboboboobobobobobooboboooan
00000000000000000000000000000000000000 (FunctionalD 00000
oooo"ooooo'oooboo0oooooooobooooooobooooooDboDOobOOoOooooDoOoboOoO
oboboobOooooobooboooooboooooboobooooboooooboobooonog

4.2 Poissorid 0000 Laplaced O OO

00000000000000000000000000000000000000000 0 Sensitivityd O
00000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000
0000000000000000000000000000000000Sensitivityl 0000000000
0O0O0D0Sensitiviyl 00 00000000000000000000000000000000000000
0000000000
0000000000000000000000000000000000 Poissord 0000 Laplaced O
000000000Poisson] J000Laplaced 000000 E[V/m|000 V[V]0OOOO0O0O00000
([F/m00000 p[C/m¥]0 0000000000000

E——VV 4.2.1)
VeE=1, (4.2.2)
€

1
VeVV =——p (4.2.3)
€



16 040 0OO0OO0ODOOOOODOOOOOOOOOO

O000000 ((FmO0O0000000000000 (4.22)0 e00O divergencealDODOOOODOOOOOO
oo00ooooooooo
VeeVV =—p (4.2.4)

0 (4.2.4)0 Poissord 00000000 (424)00000000000000000000 p0000000
0000000 (42500000000 (4.25)0 Laplaced 0000000

VecVV =0 (4.2.5)

0000 LaplaceD 0000 Poisso 0000000 p=000000000000000000O0O0O0OO
ooboooboooooobOoobOoobOoooboobooobooobooboobbOOoobOoobooDbOoOonn
oobooboooobooboooboooboooobooobooboobooboooooboooboobobooDn
goooobooovobooooboboboooooooboooo

Poisso] 000 0000000000000O0O0D0DODODODO p[C/m*1000000Laplacel 000000
O00000O0000000O0oooVvVv]OoooOoOoooOooooooooPoissord 0000 Laplaced O
gbooooobooooboobooooboooooboobooobooboooobooboooboobooobooonoo

0000000000000 00000000000000000000000000000 (4.2.1170 (4.2.2)
oo000O000000000000000OOO0O0O0000000000O0OoOOOOOO0O Poissord O
OO00OLaplaceD0 0000000000 DODODOOOOOOOOOODOODOODODOOOOODOOOOOO

O000Laplace0 0000000000 DOO0ODOO0O0OO00OOOOOOOOOOOOODOOOOODODODOOO
gbooobooboobooboooobooboooogn

00000000000 00000O0O00000OOLaplacel 00000 (426) 0000000000000
oooooooo

V2V =0 (4.2.6)
V;fl,jfl Vi,jfl Vi+1,j4
00000000000000000000000000000000 (4.2.7)

gboooobgn

oV 9%V

AL ST 4.2.7

8x2+8y2 ( )
000 00y 00000000 OOODODODODODODOD0OODOD0OOD0O0O0O0O
O000000AROKOODOD 000000000y OOODOODOOO
goon

Vi1, Vi Vig1,j

V;fl,jJrl Vi,j+1 Vi+1,j+1

VQV:Vi-i-l,j_2Vi,j+Vi—1,j +‘/i,j+1_2‘/i,j+‘/i,j—l
0421:000000 h? k2

O0000Q0Laplacel 00O 00O0ODOOO0O0ODOOOODOOOOODOOOOOOOOOODOOOOODOO

0000000000000 o00oo0o000oDo000Do00ooDoO000oDoOo0o0ooooooo oooo
OOOooo (Direchret Boundary Conditiod) D DD OO0 OO0O00O0O0O0O0O0OOCOOOO

0000 @26) 0000000000000 00000000DOO0O0ODODO00ODOOO0OOODODOOOOOn

D000000O0Laplacel 00 000000DODO0O0O0ODOODOOOODOOOODOOOODOOOOODODOO

gdodbooodoooodobobooouooooooboooooooouobooooboooooboDoooo

(4.2.8)



43. 000 17
43 0O0OO

O00O0OCOO0O0O000000000o0oooo0oooooOoOoO0nO (functona)DOOOCOCCOCOOOOODO
obooobOobooobooboooooboooooboobooooon

LaplaceD0 000 0000000000000 O0O0O000O00O0O0O0O0O0O0O0O0O0000000000000
goboooboooooooooooooooboobooboobDoooooooooooobDoOODbOoODO
oooOoOoOoOoOOOOOOOOOO0O0OLaplaced 0000000000000 O0OOOOOOOODOODOO
obooooOoboooboobobooobooooooboonog

oobobooobooooooooooo"obooobo"coboooboooboooboooboooboOobobooboobooOoo
O0oo00ooOo00oOoO00OoO00oOO0O0O0O00OU0OO0OO0OOU0LOOOO0OOOO (ooo)oo
oooobooooo

oobooooooooooobooobboobooboobooooboooooboobooboooooobobooboon
gobooobobooooobooooooooboooooooooobooooooobooooOoobooOobboODbObOODO
goooo

000000000 y(x)DOO0OO0OO0O0O0O0O0O0O0O0OODOOOOOOO

YA oooooooo
L:/ VIt @) (4.3.1)
mdx (4.3.2)
= [y (2)] (4.3.3)
‘ > 0000000000000000000
X1 T2
0431000000000 J:/“yjH{yuﬂz (4.3.4)
mdx (4.3.5)
= Bly(z),y ()] (4.3.6)

oboooooobOobobooooooooboobobooooooooobooboboboooboooooboOoono
000000000000 FOOOUOUOOODOOOOOOOOODyx)0OOOOODODODODOOOOOOOOO
gooooobooobooboobooooboooogoo

goboooboboooboooobooobobooooboooooobooobooooboooboOoOooboboOoOooDooo
googono f(x)l]l]DEIDDI:IDDI:IDI]DDDDDDDDDDDD%:ODDDDDDDDDDDDD
obooooooboooboobooboooonog

00000000000 000U000O0000O00U0000000O00 0000000000 f(x)OOO
0000000 Az 000000000000 f(z+Az)DOOODDOOO0OOO Az00000O0O0OO0OOO

gooooooooooooooobo
flz+ Az) — f(x) . Af

. _ 7:/
v v (@30

0000D0000000000000000000000 Af000000000000
00000000000000000000000000000000
YA 000000000000000000000000000000000
Fyly(z),y (z)] 00000000000000000000000 ¢/(x)0000000
000000000000000000000000000000000
000000000000000000000000000000000
00000000000

Faoly(z)+oy(2),y (x)+0y’ (2)]

; > OF = Fly(z) + dy(x), ' (x) + 0y’ (z)] — Fly(z),y ()] (4.3.8)

X1 T2

0432000000000

gboboobOobooooobooobooboooono



18 040 0OO0OO0ODOOOOODOOOOOOOOOO

0 @3.70000 Af000D0000D0000D0O0OO00O0ODOO0O0000 Az0 Az —-00000000O
oood
Af = f'Ax (4.3.9)

0000020000000 «A200000AxO00000C0COODODOOOODOD «O0O0O0O0O0O0O0O0OO
obooobOoooobooboooooboooobooooooon

f(z + alAx)

0000 «00000000000=0000000 (43900000000000000

0
%f(x + aAx) -
= f'(z + alAz)Az|,_,

0 (431000 4390 0000000000 AfO00000O0O0O0 «O0OO0O0DOOODDOOOOOODOOODO
goooooo

0000000000000 0000000000000000O000ULO0D0o0UD0O0 y(z)OOODO
00000000000y (x)0000000000000000000Y(z)000000000O00O0O0O0O0
gbooobOoobooobOobooooboooooboobooooonon

0000000000000 000000000000 y(x)OOODODOOODOOOOOODOODOOOOOO
0000000000000 0000y(x) 0000000000000 D0O0UDO0OO0ODOOOO

goooooooooOoO0OOD @3.1)oooooooo

Fly(z)] (4.3.11)

gbooobd«boboobooboobobbobooboobooboobobbooboan

2 Fly(z) + ady(z)

a=0
O000z=y(x)+ady(x) 000000a=0000z=y(x)00z/0a=4dy(x) 000000
OF(z) 0z _ OF[y(x)]

goooooooooooooooooooooooooooon
Af= 1@ A, (4.3.13)
ox
OF[y(z)]
OF = 28 4.3.14
(@) y(z) ( )

oobooobooooooooooboobOoooOoobooOooooobooboobooooooobooboon
goboobooboboooooboooboooobooboobooobooboboobooboobooboobobooboooobon
00000000000000000000000000O0U0O00O00000D 431400000000 y(x)
0000000000000000D0 4y(z)0000000000000000O00O0O0O0O00O0O00 Fly(x)]

000000000000000000
OF [y(x)]

dy(x)
0000000 FOOODOOOO y(z)00000000000000 Fly(z)] 000 y(z)00000000
00000000000000000000000000000000000000000000000000
0000000000000 0000000000000000000000000000000000000
oooo
0000000000000000000000000000000000000000000000

—0 (4.3.15)

@0059: —sinf



44. OOOODO 19

cosd0 AO0ODODODODOOD —sinf0000O00OODO0O0 —sinf=000600000000000D00O0C0O0ODOO
gboooboobooobgooobobooboobooobooboobooboobo
oboobooobooobooooboooooboooooooooooobooboboooboobooboon
obooobooooobooboooooooon
gbobobobobobobobobobobobobobobobobobobobobobobooboaa
gbooogbobooobobobooooboboobooboboobbooboooboboobobo
obooboobooooboobooobooooboooooboooobooobooooboboooboooobooobooboOooDn
obooooOboooobooboooooboooooboobooooboooooboOoon

00000000000 00O000000000 43.15)00000000000000000O00O0O0O0OO
oboobooooooooooboooboobooobooboooooboooboooboooobooobooboonn
obooobooooobooboooooooon

gooooooobobooooooooboboboobooooooobobobobboobobooDbOoDbo
uoboooboooooooboooobbooobooooooobooooboooobooooobooooboooooboao
gbooobooooboobooooobooooboooooboon

44 O000O4dod

oboobooobooobOoooooboOoooooobooooooooobbooobooobOoobooboon
O0000000000000 LaplacebO0O0O00OOOOLaplacel 00000000 DOO0OOOODOOOOOO
gobooooooooooooobobooooooooooooboooooooobbooobooobbooboooboboOoo
booobobooobobooooboboooooon

441 0J0O0O0OOO

000000000000000000000000000000000 L [J/m30000000000D0O
ubooboobooood Lp[J/m?’}DI:II:JD[II:JEI[II:IDI:II:IDDDDDDDDDDDDDDDDDDDDDD
gboooboobooboboooboon

F(o) = /S (Ls+ L,)ds (4.4.1)

goooooOo0oUoOooOooOoO0U0O0oDOoOCOO0O0O0 LgOOOODODODOOODODOOOODOOODOOODDOO

F—¢E (4.4.2) FoON]
E :00 [VIm]
:q/E.dl w 00000 [
V 00O [V
=qV (4.4.3)
00000000000000000000000000
1
w=3 > Vil (4.4.4)
O00000000000000000000000000 L [J/m?00000000000
w 1
— =V 0O—
Av @ v
_1ve
%NAS E :00 [Vim]
=§E-D D :0000 [C/m?]
zleEQ (4.4.5)

_ %DQ [/ (4.4.6)



20 040 0OO0OO0ODOOOOODOOOOOOOOOO

00000000000000000000 £, [J/m?00 (443)00000000000000p: 0000 [C/m3]O
¢p: 00 [VIODOOUpOOOOOOODODOODOODODOOOOOO pp0000O0O0O0OOOOODOOOOOOODOO
gboooboobooooboobooooobooooobobooooobooooboboooobooon

L,=—po (4.4.7)

00000000 (441) 00000000 (4480000000000 OODOOOODO

F(g) = / (Cp+L£,)ds

:/%eEzds—/pqus
5 [c(@ords— [pods

3 (V0 ~ 200} s (4.4

442 OJ0O0ODOODOOOOOOO

00000000000000000000000000 Lm0 000000000O00O0OO

F(9) :/S(EEwLERJrEp) ds (4.4.9
00000000000 LxP/ml00000000000000000000000
J 10000 [A/m?]
Lr=JeE (4.4.10) E :00 [Vim]
= KE? (4.4.11) k 000 [S/m]
= k(V¢)>2 (4.4.12) ¢ 00V

DDDDDDDDDDDDDDDDDDDDDDDDD(4.4.13)DDDDDDDDDDDDD
F(¢):/(£E+£R+£p)ds

= %/S{e(w)? + 26(V¢)? — 2¢p} ds (4.4.13)

443 00O0O0OOO

000000000000000000000000000000000 yg[J/md|0000000000OD0O
00000000000 xy[J/m?j00000000000 AWb/mOOOO0OO00000

F(A) = / (xB + xs)ds (4.4.14)

00000000 E—-HOD—BOOOODDODOOOOOODODOOOODOOOO0O0DOOD0O0O00OO xp[J/m3]0

XB:%HB H 00 [Am]
1 B :0000 [Wh/m?]
= ZBQ (4.4.15) g 1000 [Hm]
1 _, v 00000 [m/H]
=B (4.4.16)

2

00000000000000000000 yy [J/m3 0000000000000 (4.4.16000 (4.4.16)0 0
0000 (441400000000 (4.419000000000000000



45. 0000000 Poissord 000 21

d
XJ = —Jod—(f (4.4.17)
F(A :/ xp +x7s)ds
:7JO%/Bonds ®) (s 7)
1
d Z/fl/BzdS—/JoAdS
:—JO@/VxA.nds 2
1
d zf/l/(VXA)QdS—/JQAdS
= —Jom/Aondl 2
1
— A (4.4.18) =5 [T < A7 —20ALds @429

444 J0D0O0ODOO0ODOO

D000 Laplacel 00 OD0OO00000D0OOO0O00O0ODOOOO0OO0ODOOOO0O0OOOOOOOOOOOOOO
00000000000 0000000000O0OLaplacel 000000000 DODOO0OOODOOOOOOO
0000000000000 XND Medium Parameter{ 0 000 00 0)0 ¢ O Potentiall p 0 Source Density(
Oo0oooooooooooooooo)ooog

F(¢) = % /S {INV¢)? —2¢0} ds (4.4.20)

45 0000000 Poisson]d OO

000000000000 0000 Poissor] 000000 Neumanril O (Homogenous Neumann conditidin)
gooobbobbooooobobobobbodoooobbbboooooobobobobo

000000 4312000000000 000b0 c00ooooooooooooobooDoOooooooo
ocooooo0ooooo0oooooo0oDObU0 p0O0OO00OOOOOO0OOOvyOOODOOOODOD
ob0ooobOod o0 0O0OD0O0D0OY=0+a 000000000000 0O00O0OO0ODOO

F(3) ;/S{A(vwf — 21/)0} ds (4.5.1)

_ ;L[A{V(¢+ay)}22(¢+au)a] ds

2
= ;/S{)\(V¢>)2 2¢>0} ds+a/5()\v¢ovyf vo) ds + %/S)\(VZ/)Q ds

F(¢) + a/s(/\ng e Vv —vo)ds+ %2 /s A(Vv)? ds (4.5.2)

ubobooboboobdob «cobooooboboobooboboboobobooog

sp 1 PO~ F(@)

a—0 o
_ iy F@Fav) — F(9)

a—0 (6%

a—0 2

l/im [/S(qu o Vv —vo)ds+ 2 /S A(Vr)?2 ds}
= [ (A\V¢e Vv —vo)ds
S

0000 GreenDODOOOOOODOOOGreenOD00000D0ODOOOOODODOOOOODODOOO
OO0000O0000D0O00 GaussdOOOOODOOOOO



22 040 0OO0OO0ODOOOOODOOOOOOOOOO

Gauss OO QOOOOOOOOOODOOOOOOOOOOOOODOOOOOODOOOOOODODOOO
gboooboobooboooboonboboobooboobobboboong

1
E S 4.5.
/Sonds -0 (45.3)

1

:f/pdV
€ Jv
1

:f/VoDdV
€ Jv
1

:f/eVoEdV
€ Jv

— [ VeEAV (4.5.4)
1%

gboboobobooobooboooobobooooboon

/V.Eds:/E.ndl (4.5.5)
S c

OO0O0O0DOoO0EOVWeODOOOODO

Ve (vVe¢) =VveVe+ Vi (4.5.6)
/{vu-v¢+uv2¢} ds :/ vVeoendl
S C

/Svu eVopds=— /S vV2¢ ds +/ vVeoendl (4.5.7)

C

uboabouooooboaoboaobodabaan

/(AVQ#OVV*I/J)dS:A/V(f)OVVdS*/I/O'dS
s s s

:—A/uv2¢ds+A/yw.ndl—/mds
S C S

:—/V()\V2¢+U)ds—|—/ AV endl

S C

_ 2 9

__/SV(W ¢+0) ds+/c)\uandl (4.5.8)

OO00O0OVeend VoOOOOONODOOOOOODOOOOOVeO nODOOOOOOODODODO %DDDD

uboboobobooboobooooboobooooboooooooboo
O0o00z—-y—-000000000000000O0FOCOOOOOODODIOOO0OOOOOOOOOOOO

goo0oO00O0OFOOOOOOOOOIODOOOOOOOOOOOO

F = axi + byj + czk
Fei=aziei+byjei+czkei
=ax
OO0000o00ooOooooo00D x—y—2-0000000000000000D0000000I0j0OkO
goooobboooboooooogooooobobbodoooooo b b0 ouoo

ocooooooooobobooooooo «—yj—k0000000O0O0ODDOOOODOOO
gooooOoOoOoOOOOOOFOOOOOOOOOOIOOOOOOOOOOOOOOOOO0O0O000

F = aii + bjj + ckk

Fei=uaqiiei+bjjei+ckkei

=at



46. DO0O00ODOOOOODOOOOO 23
OO000OVeenUOUOeoO IOmOnOOOODOOOOODOOOODODOOODOOOOODOOOODODO

_99,, 00 09
Vo = 8l|+8mm+8nn
_ 99 99 9¢
Voen= 8l|.n+6mm.n+8nn.n
_ 99
" On
Od0o0oooobooooooooooboooobooooboOoooon
2 9
— [ v(AV*¢p+o)ds+ | \Ww—edl =0 (4.5.9)
S C 67’1,

OO00000000o00o0oU0o0oooooOoOooOn Poissond0000O0OO Neumannd O (Homogenous
Neumann conditon OO0 0000000000 DOOOOCOOOO

AV2¢6+ 0 =0

oo

a—n—O

000000000000 Poisso] 000000000000 OO0OOODODOOOOOOOOOOOOOO
uoboobooobooobooboooooooooooobooboooooobooooboboooooobooobooDboOoOoDn
gooooo

46 J0O0D0OO0OODDODOOOOOOO

obooboooboooboboobooboobooboooobooobooOoobobooboooboobooboon
0000000000000 C00O0O0000000000000 LaplacelOD00ODODOOOOO0OOOOOOO
oood

O0000000ooooooooooooooooD 460000
obob0o0ob0oobOobOoboobOobobooboooobob00y0O00O
gobooooboooobobooboboooboobooooobooon
obobooboobooboooboobooobooboooboooboobooon
ooooboooobooboooooboooobooboooobooon
ooooboooobobooooo

obooboobOobobOobooooooobobos00y0O0OOoOoOoO
oboboobooboooobooobooboooboooboooooboon
oobooboooobooboooOooboobooOooobooooooooon

gobooooboboboobobooboooboobobooboooobooooo
goboooooobooooobooobobooooooooboooboooboooobooooOoooOobDOoODbOoODo
uboboooboooooobooboooboboobooboobooboobooooooOoooboooboooobooooonn
oboboooOoboooobobooobooboooooboooooboon

ooboooooooooboobooobooobooobooboobooobOoooboobDOoobbOoDboboOoD
boboooocooooobooboboboboboooooooobuob 00y 0O0O0OO0OOOODOODOO
oboobOoobooooobooobooobooobooooooOoooooboboobooobooobooboOooDnn
obobobobobz00y000000O0O0O0O0DOOOOOOOODOODOODOODODOODOOOODODO
oooobooooboobooonog

0 4.6.1:0 00 0 Potentiald

ooooooooobooobobooboobooboobooobooooobooobooooobooobooboon
gbgbooboooboobobaooboooobobuobodn+1000000000000O00O0Ox»O00000



24 040 0OO0OO0ODOOOOODOOOOOOOOOO
ubodabuoboobgbboaoboabuaoobuooooboaoboanoda

oood y=a-+ [z
oood y=a+ Bz + yz?
oood y = o+ fz + vz + o3

00000000 0DOyODOODOO0O0OD «Op0Or0... 0000000000 y00DO0O0O0ODODODOOO

obooboooooooboobooyobOooboobooo0 «b0oobbooboooooooboooooag

obboobOyO0O0OO0OOoOO0OO0OO0O0OOO0ObOOO0O0OobOOoboooonoo
gboooobooooobobooboooooboooogoon

¢ = a1 + aer + asy + auzy + asz? + agy? + aray + agzy® + ... (4.6.2)

gboogboboobobouooboouoooaoboobobuobooaboabod
go0ooooooooooooo0ooooooUooooooooogooo 3
0000000000000 46)00000000DOOODOOODOOOOO
obooooboooooobono

aq
¢>=a1+agx+a3y=[1 x y} (e%) (4.6.2)

as

046220000000
Oo00oooboo0 DU 00000000 0ODO pO0O0O0OO0O0OOOOO0ODOOODOODOODOODOO
gboboobobooboobooooboboooobooboooobooboooobobooonoag

ooboooboooooooobooooobooobOoobOooboooooobooOoboooboboOoobooOooboon
gbgbodbooboboobobobobobouoboboboooooboboboobooboboobang
goboboboobobobooooboobooooooboboboboobobobooboboobobo
gooobooogn

#3(w3,y3)
0463 00000000000000O0O0O0O00000O00O0OO
oodoooooooooood
[ 1 ] (1 2 oy | [«
o ¢2 = 1 zo Yo [ (463)
P(z,y) L ¢3 | L1 23 w3z | | a3
_ - _ -1
o 1z o1
¢1(z1,y1) P2(22,12) as | =11 2o ws b2 (4.6.4)
04630000 Las | |1 z3 y3 | ®3

0000000000000 00000000 (v,y)DOODOOOOOOOOODODOOOOOO

-1

1 =y 01

b=|1 a y||1 o v - (4.6.5)
1 z3 ys3 ®3

¢ = [ 1z y ]c-lqa (4.6.6)

0000C'000000000A0D0DDDDOOOO0OOOdetC=24A00000 41000000000

(a0e — 392) —(ys —w2) (w3 —2) |

= Jot C —(w1ys —w3y1) (Y3 —wy1) —(w3—21) (4.6.7)
(T1y2 — 2291)  —(Y2 — Y1) (x2 — 1)
) by by b3
S (4.6.8)

di dy ds



47. 0000000000
0 (4.6.6)00 (4.6.8\0 000000

. by by b3 o1
¢ = A { 1 z g } c1 Cc2 C3 o2
| di dy ds @3
. [ g1br daby  Bsbs
=5A { Iz y } p1c1 Paca  P3c3
| ¢1d1 ¢ada  P3ds

_ i{(%bl + (b + ¢3bs) + x(d101 + daca + Pscs) + y(drdy + Gada + Gads)}

3
1
= 5A Z @i (bi + ciz + dy)
i=1

3
=Y b
=1
0000« 00 (4610000000000

al b1 +Clllf+d1y)

= ﬂ(
= (s — 9p) + (2 — wo) + (2 — 22}

ag by + cax + day)

1
— ﬂ(
1
=351 (xsy1 — x1y3) + (y3 —y1)x + (1 — x3)y}

bs + c3x + dgy)

L
=952

= i{(wlyz —xoy1) + (Y1 — y2)x + (2 — 1)y}

gbooobooboooboobooooooboo

47 oooooooon

25

(4.6.9)

(4.6.10)

oboobooooooooboooobooboobooobooooooooobooooboooooooooogn

obooooOobooooobobooooobooooon

oobooooboooobooobooboooboooobooobooboobboobOoobOoobOOoOobbOoDboboOoD
obooboobooooobooobooooooooooboooooooooooooobooboobooobon

gboooboobooooobooon

gboooboobobobooboon

F(0) = 5 [ AN(V9)* —200}as

000000000000 0ooooooOo0O0OCOCO0D o00OD0ODOe0O0O 469)D0DO0O0O0O0OOCODODODO

gboobouooboobobboaoboaobaooboooaob



26 040 0OO0OO0ODOOOOODOOOOOOOOOO

3
= dia;
i=1

3
Vé=> ¢:Va;

=1

Fo)= 3 /S (N(V)? — 260} ds

3 3 3
_ %/AZZ@@V%V% ds—/ZqﬁiaiU ds
s Si=1

i=1j=1

1
= 5/ AMo101Va1Vay + ¢p1¢2VaiVas + ¢1¢3Vai1Vas
5

+ ¢201VasVay + ¢p202VasVas + ¢293VasVas

+ p31VasVar + ¢3paVasVas + ¢303VasVas) ds — /(¢1a1 + ¢2az + ¢3a3)o d
s

(Va1)2 Va1Va2 Va1Va3 ¢1

1
= 5/5/\[ b1 P2 @3 } VaiVay  (Vag)* VayVag b2
VaiVas VayVaz  (Vaz)? o3

ai

_/S{ﬁbl o)) ¢3} az |ods

as
0000 (Ve;)’0Ve;Ve; 00000000ODO

g. 0 0
V= _—i+ + o

ox @J 0z k

Var = 5 (2 — )i + (5 — 22}

Vas = i{(@/s —y1)i + (v1 — w3)j}

Vas = oo {(n — w)i+ (22— 1))

Va0 Vo = 1 — ) s — ) + (o3 — 22) (01 — 23)}
Vaz o Vas = 10 (s — 02) (01— ) + (21— 2) (22 — 1))
Vag o Var = 1 (2~ 90)3n — ) + (25 — ) (22 — )
(Var)? = s llve = )" + (25 — 22)%)
(Vas)? = o s — )2 + (1 — 2%}

(Vas)? = g {lon — 2)* + (@2 — 21)%)

4.7.1)

(4.7.2)

(4.7.3)

(4.7.4)

(4.7.5)

(4.7.6)

4.7.7)

(4.7.8)

ooboooboooboobooobooooboobboo 00 y0b0O00b0O00D0y0y; 000000000000
cOoo0ooooO00ooooO0OoooObo00oDoo00DoDMbw,OD 0000000000000 coteOOO

oooooo0oooDbbD 41000000



48. OOOOOOOO 27

/Sval o Vay ds = éA{(m —y3)(ys —y1) + (w3 — x2) (21 — 23)}

1

= H(hth +’U}1’LU2)
1 1

= Q{M(h1h2+w1w2)}

1
= —Zcotf
2CO 3

1 1
/SVag eVasz ds = _2{_2A(

1
/SVag .Va/l dS = _2{_2A(

[ as= 3 { L +up)-
[vaas = 3{ L +up)}
/S(Va3)2 ds = 2{2A(h3 +w§)}— §(c0t03 + cot 6)

00000 475 00000000000000000000C0O0 SourceDensityy00O0O00OOODO 421200
oood

1
hghg + wgwg)}: —5 cot 91
1
hihsz + w1w3)}= 3 cot 0
(cot O3 + cot 63)

(cot B3 + cot 67)

= N = N

) \ cot 03 + cot O — cot 63 —cot By b1
F(¢) = By [ P11 P2 @3 3 —cot 63 cot 03 + cot 6 —cot 6y o
— cot Oy —cot 6y cot B + cot 61 b3
1
A
[ & 6 6 |Fo| 1| @19
1
1 S11 Sz Sis o1 U,
=3 [ o1 P2 @3 So1 S Y23 2 | — { ¢1 P2 @3 } Us (4.7.10)
S31 S32 Sz ¢3 Us

00000000000000000O0O0O00000000000000ODO0ODO0O0 @700 000000
gbooooobooog

48 O0OOOOODOO

gobobooboobobooooobooboboobobobooobooobobobobooboboooon
uboboboooobooboobobobooooobobobooboobobooboboobobOobooooboon
oono

gbooobooboooboboobooboobobo

F(6) = 5 [N(V0) = 200)as

0000000000000 0000 Fly(«))] DOO0O0OO0OO0O0D0DOO0O0OO0OO0O0O0O0O0O0O0O0O0O0 ¢0 y(x)
ooooo

o0D000D0O0OD xbyDOO00O0DOO0OOO0O0ODOOODOOODOOOOODODOODOObOOOUODOF
ooooooobooooo0oooooboooooobo0oooOo0oooDooobObODO0o0DbOO pODOOODOO
oobOoobooobooobooboooobooooboooooooobooboboobooooboooboooboOoOonn
oood

gbbooboobooobooboooobobooooaon

Flo(x, y)]



28 040 0OO0OO0ODOOOOODOOOOOOOOOO

0000¢ 0000000000000 000000U0O0000000U0O0O00DUOOOUOUOooOOoUO
0000 FOOOOO y(x)0ODOOO0OO Y (x) 000000000000 00O0OO0O0O0O0OO0ODO0O0OOOO

0004 (x) 000000000000

Laplace0 000000000000 O0O0OUOOOOOO ¢ 0000000 OOO0OODOOUOOOODOO

Oo0O0oO00O0O0OD0O0OD0D0OD0ODODOO0OO0OO0 43150 0000000000000 o0000000OOOO

OFp(x,y)] _
9¢(x,y)

(4.8.1)

oboooooboooboooboooboobobooobooboobooboobooboOobooOoboOoooDn
goboooboooooooooobooobooboooboboooooboooobooobooobooobooboonn

gbogbouogboobobooboabaooboooda

goboboooobobgoooobobooobooboboboobobobobooboboboon

gooobooogn

S11 Sio
Sa1 Sao

o1

@2
= [ $1511 + 92521 91512 + 92592 } [ o1 ]
o2

(o o]

= 625?511 + $1¢2521 + 192512 + ¢§Sz2

0
091 M- 2¢1511 + ¢2521 + $2S12
0 | #1521 + $1512 + 202522
02
_ St Si2 o1 S11 S o1
| S21 S ¢2 S12 Sz ®2
2 (475¢) = (S + ST
0
goooooooooooooooooo
Ur
Mf{qﬁl ¢2} U, = ¢1U1 + ¢p2Us
0
01 M= Uy
o 0.
0o
O 1o
%@ U)y=U
oooOod 5
Foo1 .
ooooo @.79uoano Sij:SjiDDDDDDS:STDDDDD
oF
% Sp—-U
oo00ooo0oooooooooooooooono
aF cot 03 + cot O —cot 3 —cot Oy 01
% = 5 —cot 93 cot 03 + cot 91 —cot 91 ¢2 -
— cot 05 —cot 0 cot 05 + cot 0 o3

(4.8.2)

(4.8.3)

(4.8.4)

(4.8.5)

(4.8.6)

(4.8.7)

(4.8.8)

(4.8.9)



49. O0OOOODOO

49 0O0ODOOOOO

obooboooboobooboobooboobooboobooboooboobOoobooboon
oboocobOooboooboobooooboooooboobooooobooooobooooboOoboooooboon

29

ooooobooobooooobbobbooooooboooooooo
gobooobooobooooboooboooobooooobooboooboaoo
oobOooOoobooobooboooobooobooooooooobobooobooboaon

ooo
3 @ @ 6 pleih — p L p@ L p@) (4.9.1)
oFW@h — grpM)  gpR)  gF®)
= + + +... (4.9.2)
2
> or  9gr®  9gr®
04.9.1:00000000 = 960 + e + e +... (4.9.3)
0490100000000000000000000000000 FOOOOOODODOOODOOO F@Oo0000
(all) (1) (2)
oF _or + oF (4.9.4)
ad)(all) 8¢(1) @¢(2)
S sy sy 0 0 0 ][ Uy
1 1 1 1
Sy S sy 0 0 0 || ¢ Uy
s s os® o0 0 0 e || U 4.95)
0 0 0 0 0 0 b4 0 o
0 0 0O 0 0 0 b5 0
| 0 0 0 0 0 0 ||[d | | O |
0 00 0o o o o |[e] 0 |
0 0 0 0 0 0 b2 0
0 0 0 0 0 0 b3 0
T @ @ @ 2 | (4.9.6)
0 0 0 Sll Sl2 S13 ¢4 Ul
0 0 0 S 82 ST || s us?
0 0 0 s sy s | e ] [0
O000¢p =0 =¢s 0000000000000 00OOOODO
[(all) (1) F(2)
d _ 0 N 0 (4.9.7)
O 8¢(1) 3¢(2)
s sy sy o0 ] [ e Uy s s 0 s [ e U
1 1 1 1 2 2 2 2
T S N ICE N IR O S I I U | sos)
- 1 1 1 1 b
S5 sl sy o ®3 U 0 0 0 0 b3 0
0 0 0 0| ¢ 0 S0 sE 0 SE || ¢ Ug?
r 1 2 1 2 1 2 1 2
spasE swesy sy osP [[e] [uleo?
1 2 1 2 1 2 1 2
| s sas® s s || || oo 459
- 1 1 1 1 b
Sy S5 S0 ¢ usY
2 2 2 2
S5 S5 0 S5 % Uy?

SZ.(;L)[I[I[IDDDDD[I[I A0D00D000D0000000000000000000000000U™ 000
000000 Source Density) 0 000000000 U™ 0000 U™ =000000Laplaced 00000

OO00O0O00O000000g0g Poisso0000O0OOOOOgd

gbooboooboobobooooooboboobooooobobobooooboobooboboooon

000 Poisson(Laplacd) 0O OO0 O OO0



30 040 00OO00D0OO0OO0DOOOODOOOOO0
410 O0OO0OOODOOOO

0000 deC=2A000000000000000000000O
ooooooboooooboobooooboobooon

gboboobooooboobooboooobooooboooooboo
gooooOooOoOOODODDOOODOOO ADDODOO

N

0 4101.0000000000

@) — 3
\@
Y2 — Y3 '
O S A
I Ys — _ Y=y,
: =) = { =) = L2y ) = By
Ys—Y1 | p------- K----7\--
' _ ¥y~ _
: (ys —y1) pra— (z2 — x3)

@
Tro — I3 X1 — T2
0 4.102.0000000000

0410000000000002A0000000000000000000 determinanD 0000000
gooooobooogd

24 = {(yz —ys) + zj:iz (2 —903)}(331 - x3)

= (y2 —y3)(z1 — x3) + (y3 — y1)(v2 — 3)
= X1Y2 — T3Y2 — T1Y3 + T3Y3 + T2Y3 — T3Y3 — T2Y1 + T3Y1

= (1y2 + T2y3 + T3y1) — (T1Y3 + T2y1 + T3Y2)

1 2z oy

0410300000000 1 23 s

000 41030000 AOBOOOODOOOODOOOOOOODOOOO
O0cotg,000D00OOO0ODOO

A= {(yg ) - L g, —$3)}($2 — 3)

I — T3
T2 — T3

. = {(ys —y1) (@1 — 23) — (y3 — v1) (22 — x3)
1 — T3
X9 — X
=22 B gy —y) (21 — 22) (4.10.2)
r1 — I3
0 4104:0000000 B ij:i(xz_“)(“_”) (4.103)

000000 AOBOOOOODODOOOOOOOOODODOOOODOOOOOOOOOOD 2400 4104000
goooogood



411. 00D0OO0OODOOOOO
411 OJ000OO0OOooobobooOn

A
ys | wy @ w3
Uy V2
h 0
! ¥3 2
ys+ QK )03
U3
-hs
ha
\51
01
®1
nT m—y @
| | | >
I3 T2 X

0411.1:0000000000

cotf; = cot(g —p1— )
_ tangp; +tan ¥,

1 —tan ¢ tan ¥y

31

00000000 SO0Ocotg, D00O0OOOODOOO
odoobooooooooooooobooooooooooo
ooooooobooobobobooboobooboooobooo
boboooooboooboooboobooboobooooo
oooobooooboboooogd

oooooooboobooobooobooboboobooonoo
OO0DO000OmOw, 000000 ODOOOCOODOOO
oboobooobooooboobooboobooooo
ooo

hi=y2 —ys w1 = T2 — T3
ho =y3 —y1 We = T3 — T1
hs =y1 —y2 w3 =Ty — T2

0000000 cos00OD0OOODOOODODO (4.7.9)0 cosO
oooooobooooooono

cot B = cot(m — g — ¥s)
1 — tan g tan Uy

tan g + tan Uy

1
1 =——(h1h 4,11.2
= — 57 (hohs +wawg)  (411.1) g Mhs Funws)  (411.2)
cot B3 = cot(m — 3 — ¥3)
hiws ' 1 — tan @3 tan ¥
" tan 3 + tan Uy
_ hi —hs
— w1 w2
Tow g ﬂz
1
k _ hlhg + wiws
o h2w1 — h1U)2
1
cotf; 00O cot o, 00O cot s 00O _ —ﬁ(hlhz +wiws) (411.3)

041120000

412 DO00O0ODOOOOO

gooooobooog —fsqbodsDDDDDDDDDDDDDD r—yOOO00O0O0O00O0O00O00

obooobOoooooobooooooboon

—/quads:—ai@/aids
:—UZ@/
E:@/b4wm+¢wd

000 4120000000000 000000000000O00O0d

/(bi+cix+diy)d3:/bids+/cixds+/diyds
s s s s

(b; + c;x + dyy) ds

(4.12.1)

(4.12.2)



32 040 0OO0OO0ODOOOOODOOOOOOOOOO

a4 a 4

a). b ds czx ds c). dzy ds
0 4.12.1:000000

00000000 4120000000000 z0y000000000O0O0O0O0OyDOOOOOCOOODOLODO
U0 000000000000 00:00000000O000O00y0000000D00O0DOOOOOOOO
oooooo0o0ooobooooooogooDooo 412000000000 OooOboO0oOoOO

booobobooobooboooooboboooboboooooboobooooon
A

a). 000000000 b)ooOoOOOO c).0d0dgon
04122000000

oooob4123)00000000000000DOO
gobodoboobooobooobooobooboboooon

ys |- @ 000000000000000000000000000
| 000000000000.4123 00000000000
: ooo
I
o1 = vz ! ® 00000000000000000000000000
o= > 0[000000]x[000000]0000000000

goboooboobbooobooooboobooobboooo
gobbooboooboooboooboooboboobn 20y
gbooooobooooobooooboobooooooboo

oooy=100000000000000D00O000DOOO0OO0ODOO0O0ODODOOODOO

T2 Y3
/ds :/ / dy dz
S z1 Jy1

T2
= / (ys — 1) do
1

= (932 - Il)(ys - y1)

041230000000

= Z2Y3

gboobOoboooobobooooobooooboobooooobooogon



412. JO00O0O0OOOODO 33

oboooooooooooboboooboboooboobooooobon
O0b00db00000000y00000DO0OOODO0OO0O0y0OD0OO 2
ooooboooooao

@L<ﬁ:@ﬂXﬁ+@ﬂXﬂ+@ﬂXd+~~

0000000000 :00y000000000000000000000
041240000000 00000000000000000000000000000

yO00 z0000000000000000000000O0O0
000000000000 00000000000000000
T 0000000000 mOm,000000000000000
y=ma(z—z3)+ys 000000000

A

v
miz Y= x3x =mz (4.12.3)

y=——L  (r—a)tys=ma(r—3) +ys  (4.12.4)
T2 — Y3

-
>

x3 T2
doddbodobooooooooooboobooobooooa
doodooooooooo yp,=100000004d

041250000000

T2 f(z)
bi/ds:/ / ds
S 0 0
3 mixT T2 ma(z—x3)+ys
:/ / dy dm—l—/ / dy dx
0 0 z3 JO
x3 T2
:/ mix dx—i—/ {m2($—$3)+y3} dz
0 xr3
1 1

§m1x§ + §m2(x§ - J}%) — (maoxs — y3)(x2 — 3)

lys o 1 Y3 2 2 Y3
B x3x3 2( Ty — yg)(wz z3) — ( T2 — U3
1

= 5?/3962
= A (4.12.5)

z3 — y3) (72 — 23)

Ub00000000000000DO00DO0DOO0ODOObOOODbOO
U0z-s000y0000000D000C00OO0 «c00000D0O0O0C0ODOO0O0
0000000000000000000000000 [000000 «Xj]
x[yO0OOOO]OOOODOOO0O00000000g yoooo 0000
oooooboooooog

041262000000

ci/ zds =X 1f(X1) + e Xof(Xo) + ¢; Xsf(X3) + ...
S

obboOd-s0000000000D00000DO00O0O00O00D00¢g=10000

T3 pmiT x2  pma(z—z3)+ys
Ci/dS:/ / xdydx—i—/ / x dy dx
S o Jo z3 JO

xrs3 T2
= / mix? dz —|—/ mox? + x(ys — moxs) do
0 T3

_lx 1(m+ )
—223133 2 T X3

_ ?(@ +as) (4.12.6)



34 040 0OO0OO0ODOOOOODOOOOOOOOOO

Udybogbobodbooboabooobaoboaboaaoaoboan
U0y000 2x20000000000000y0O0DOOODOOODODOOOO
0000000000000000000000000 [000000 4;Y;]
x[OOOOO]0O0O0O0O0O0O0ODODOOO0OO0O0 k0000 y0OODOOOO
gboggogaood

S

y0O00OOO00O00000000O0O000 4128 0000000000
OmOm, 000000000000
To— T
To T =— 2y 3y—|—x2:m2y+m2 (4.12.7)
3

T = ﬁy =my (4.12.8)
Ys

0000« 0000000000000 0000000000O0d; =110
may + T2

aoo
Y3  may+ae
di/yds:/ / y dz dy
T3 ==-=-=-=-—-= s 0 mi1y
1 Y3
may : = / y(may + 2 — myy) dy
0
> 1 1
¥ = §$2y3 gys
04128y0000000 A
= gyg (4.12.9)

uboboobooooboboooooboooobooooboobooooobooonoo

A A
bi/ ds—l—ci/x ds—i—di/y ds = biA+Ci§<$2 + z3) +di§y3 (4.12.10)
S s s

b0cOd;0¢:=103000000000000000000000000DODO0OO0OODO«=10000
ooo0oooo00KLOOd; 000000000 (46700 (468000000000

b; = T2Y3 — T3Y2 = T2Y3
Ci =Y2 — Y3 = —Y3

di =23 — 22

o000 @.12.10000000
A A
5{3[)1 + Cl<.’172 + .’1?3) + dlyg} = § 2A (41211)

gboboobobooooboooooobooog

3
o
—/S¢Ud8——2A;:@/S(bri-ciiﬂ-i-diy) ds

=1

1 A i

:—[qbl s (;53}—0 1 (4.12.12)



35

U050 O00doouoooooogn

5.1 J0OO0Oooooobooooon
511 00000000000

0200000000000000000000CSsensitivtyDOOQOOOOOOOOOOOOOOOODRODOO
obooobOobOoooobobooobooboooooboon

000000000000000000000000O0 (449 00000000000000OD0OCODODOO
oooooOoOo0O0O0OD0ODOOOOOO0OO00000000000Lg=0000

F(¢) = /(ﬁR +L,)ds (5.1.1)
= Shdv¢fgf@ﬁds (5.1.2)

SensitivtyD 000 O0OOUOO0O0OOO0OOOO0OOOO0OOOO0OOOOOOOOOOOOOOOOOODOO
oobooooooooboobooboooooboooboobooboooboooboobOoooboooboOonn
0000000000000 000000000000O PoissoO0000OLaplaceD00ODODODODOOODODO
00000000000000000000000000 Laplace0 000000 DODOO0OO0ODO0OO0OOOOO0O
O SensitivtyD OO OOOOOOOOOOOOO LaplacelODOOOOOOO

obooooocooobOobobobobooboobooooooooobOobOobobboOoobooboobOoono
gobooboooboooobooooboooobooboooboboobooooooboooboooboboobbooDbboOoDo
booooooobooboboooooobooboboooooooobooboboboooboooobOoboo
obooobooooobooooobooobooobooboobooboooboobooboooboooboboOoDn
oo0oO0O0O0O0O0O0O0O0OD0D0ODOO0OO0O00000000000000000000 Poisso 00000000

0000000000000 000000OO0OSensitivtyD0OOOODO0OOO0O0OODO0OO0O0OOOOO0OOOOO

5.1.2 Sensitivityd OO0 OO0OO0O0O0OO

22]00000000000000 Sensitivtyl 000000000000000000000000000
000000000000O00

Sensitivity D 0 00 0000000000000 000000000000000000O0OOOOO0O0000
R[Q)000000000C0O000000000 V[VJOOOOODODOODOO0O00000 I[AJ00000 (5.1.3)
000000000

R=" (5.1.3)

0(5.1.300000R[Q 000000000000 O0D0O00000000O0V[V]O I[Al000000O00
00000000000V[V] 0000000000 [[A|]000000I[A|]0000000000 V[V]OOO
0000000000Sensitiviyl 00000000000000000000000000000000 VV]
000 J[A|00000000000000000

0000000 OSensitiviyD 00 0000000000000 000Poissond 0000 Laplaced 0000
0000000000000000000000000000000 (5.1.4)000000Laplaced00000
0000O000x[S]00000¢V] 000000000

Ver(Ve)=0 (5.1.4)



36

b)0OOOoooQg 2

c.0opooooo 3

050 0O0000OOOoOoOooooOooo

d.0oooooo 4

a).00000001

2090

e).O

0.008
0.007

0.006

0.004

0.003

Differential Conductance[S]

0.002

0.001

0.012

0.008

0.006

0.004

Differential Conductance[S]

0.002

0.005 —

ooooo1 .OOOOOO0 2

9.000000 3

h.oooooOo 4

0511000000000Sensitivtyd 00000000000

Node01+Node02-12
— — — — Node02+Node03-12

~~~~~ Node03+Node04-12
— - —-Node04+Node05-12

— - - —Node05+Node06-12
Node06+Node07-12
= =Node07+Node08-12

= = = Node08+Node09-12
— = Node09+Node10-12

Node Number

a).000o00ooo1

Node01+Node02-12
— — — Node02+Node03-12
----- Node03+Node04-12
= - = -Node04+Node05-12

— - - —Node05+Node06-12
Node06+Node07-12
= =Node07+Node08-12
= = = Node08+Node09-12

[= = Node09+Nodel0-12
= = Nodel0+Nodell-]2

Node Number

c.000ooooo 3

0.012

0.01

0.008

0.006

0.004

Differential Conductance[S]

0.002

0.0025

0.002

0.0015

0.001

Differential Conductance[S]

0.0005

Node01+Node02-12
— = = Node02+Node03-12
""" Node03+Node04-12
L= - = -Node04+Node05-12

— - - —Node05+Node06-12
Node06+Node07-12
= =Node07+Node08-12

[= = = Node08+Node09-12
= = Node09+Node10-12

Node Number

b)ooooooo 2

Node01+Node02-12
— — — Node02+Node03-12
----- Node03+Node04-12
— - — -Node04+Node05-12

{— = - - —Node05+Node06-12

Node06+Node07-12
= =—Node07+Node08-12
= = = Node08+Node09-12
= = Node09+Node10-12

= = Nodel0+Nodel1-12

Node Number

d.0oooooo 4

05120000000000



51. 0O00O0000OO0O00DOO 37

SensitivtyD OO OOQOQ0OQO (b.14)0000000000000O0O0OO 5 3
OooooooD0 Gle)poooooo

m@:L@m (5.1.5)

:/Hw@%s (5.16) '
S

0000000000000000000000 1200000000 8 12
00.5.1.3000000000000000 1200000000000

0511apbdcld 0000000000000 00000000O 10
0.511ef0g0h)00 (225000000000000000000
000.51.0000000000000000000000000000
000000000.511epf)0gOh000000000000000
00000C0000000000000000000C00000C0C00000000000000000000
000000000000000000000000000000000

0512a00.511a000000000000000000000000000000C00000.5.1.20
0000 Node01+Node02-12 0000 0000000000000 0O0O000000000OO000 NodeOl
000000000 Node020 0 Nodel20 00D 000000000000 OCOOO0O0O0OOOOOOOODO
0000000000000 000000000000000000000000000000000 (2.2.5)0
Z00DOx000000005.1.1e0000000000000 GYSPMOOOOODODO.5.1.2b)-d)00
ooooo

11

0513:0000000000
oood

513 DDbOO0ooooooooooo

2310000000000000000000000000000000000000000000000
0000000000000 00000000
0000000000000000000000000000000000000000000000000
00000C000000000000000000C0C000000000000000000000000CC
0000000000000 000000000000000000000000000000

00000 (5.1.300000V[V] 000000000000 (5.1.3)0000 RQ 00000000000
00000000000000000000V[V]OOOO000000000000I[A]00000V[V]OO
0000C0O00O0000000000000000000000000C0C00000000000000000
oooo0o0O0ooo
000000000000000000000000000000 (5.1.7) 0000 Poissord 0000000
0000000000000« [S]00000¢[V]OOO00/Am3 0000000000000

Ver(Ve) = (5.1.7)
O000o0oooOooDo GB.A7)000000D0o0000Dooo000Doo0oo0DooO (B.A9YyDoooooo
ﬂ@:ﬂ@—@ms (5.1.8)

= S{mv¢f—¢m}ds (5.1.9)



38 050 0O0000OOOoOoOooooOooo

000000000000000 . B I 6 . Lo
0000000 2400000000 10 —— A 5 3
00514 00000000000 " . I I
0000 12000000000000 4, )

000000000000 .5.1.510 f | I 7
13— -1 1
0006000000000 (2.3.4) k j
nDooooooooooooooo — A ; .
0000000000000000 15 23 ’ ‘
0000D000000000000 w17 — mQQ I T
000000000000o00 18 19 20 I
051.400000000000 051500000000000
0.51.6a)-di0000000000 ggoQ 0ooo0oo

00000000000000.5.1.6
e)-h000 (23.40(23.7)00000000000000000.5.1.6e)-h00000.51.6a)-di00000
00000000000000000000000000000000000000000000000000
000000000000
0.51.700.5.16a0000000000000000000000000000000000000000O
05170 (231)00000000005170000000000000000000.5.1.31000 ;00
000000 000000.5.1.810.51.910.51.100000000000
0.5111a00.51.000000000000000000000 240000000000000000
0000005111a000000000000000 GausOOOOOO00000000000 (2.34)
OVOODOOGauss 0000000000000 00000D0000000000000000000000
0000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000
0.51.11b)-d0000000.5.1.80.51.90.51.10 0000000000
0.51.1210.51.50000000000000000000000(23400000000000000
000000000000000000000000 GYSPMOOOOOOO .5.1.12 b c)dd)df)0g)dh)O
00000000000000000000000000000000000000000000000000
000.51.6e00000.5112100000000000000000000000 10000000000
(23.7)00000000000000000000000000.5.1.1310.51.1410.51.150000000
ooo

a.00000001 b.0OO0O0O0OO0 2 c.00000003 d.00o0o0oo0o 4
e).00D0O0001 fl.oooooog 2 0.000000 3 h.ooooDOO 4

Os5160000000000000DOOOODODOOOO



51. 0O00O0000OO0O00DOO 39

a.00000001 c).30° d).60°

- I

e.000000 1 £).90° g).120° h).150 °

05170 (231)00000oooooooooo

a).00000oo0o 2

e).000000 2 f).90° g).120° h).150 °

05180 (23.) 00000000000 DOOO

9C

a).0000000 3

e).000000 3 g).120° h).150 °

0 5190 (231)0000ooooooooooo



40

a).0000000 4

050 0O0000OOOoOoOooooOooo

c).30° d).60°

e.00D0000 4 f).90° 9).120° h).150 °

0 5.1.10:0 (23.1)0 0000000000000

Differential Voltage[V]

23456 7%12‘@&% SPECE 222394
e S

AN

2 0° x

Differential Voltage[V]

Differential Voltage[V]

—150°
6 L
Node Number Node Number
a).000oooo1l b)ooooooo 2
6
.I‘\
I\ 4
PN
‘/' \ _
3 N >
. N 5 2r
&
]
o '8 e S y
o . ; . i~ _ > = 2
L 0 AN e TSy - : A
B I AR P 5 0
= 78091 AVATEE ' 7 e
\\‘\. 4 §
0° < £ 2 0°
———30° a --=30°
----- 60° e 60°
—-=-90° -4 --=-90°
120 V ----120°
—150 —150°
6 L
Node Number Node Number

c.0000oooO 3 d.0o0ooooo 4

0 5111000000000



41

51. 0O00O0000OO0O00DOO

oty L SARL
CERTT

e ks pTT

. E XN
i LA
£, ERES

KA T

d).60°

c).30°

a).0000000 1

h).150 °

120°

a)

e).000O0001

0 5.1.12:0 (234)0000000000000O

El

Y

2R
‘A

3

o

o
T

P

X

i

7

1

~

N

d).60°

c).30°

a).00000oo0o 2

R

2

~ TI«M
MNJL\ L 4'3
PASTR

f).90° g).120°

e).000000 2

0 5.1.13

0(34)0000000000000

c).30°

a).0000ooo 3

f).90° 9).120° h).150 °

e.000D000 3

0 5.1.14:0 (234)0000000000000



42

050 0O0000OOOoOoOooooOooo

a).0000000 4

e.00D0000 4

0 5.1.15:0 (234)0000000000000O

9909

a)0J0000oo0o1 c).30° d).60°

99

e).000000 1 f).90° g).120° h).150 °

051160000000000000000000

800

a.0000000 2 c).30° d).60°

0O

e).000000 2 f).90° ).120° h).150 °

0s5117.00000000000000000DO0



51. 0O00O0000OO0O00DOO 43

999

a.0000000 3 c).30° d).60 °

Q09

e).000000 3 £).90° g).120° h).150 °

0 51180000000000000000D000

900

a.0000000 4 c).30° d).60 °

000

e).000000 4 .90 ° g).120° h).150 °

0 5119.0000000000000000D000

514 DDOOOO0OOOODOODOOD

O000D0SensitivtyD 00O O0O0O00O000O0O0OO0O0O0O0O0O0OO0O0O0OO0OO0OOOOOOOOOOOOOOO
oooooboo

0.51.1000000S8ensitivityD 000000000000 0O0O00O0O0OOOOO0O00OODOOQOOOSensitivity
obooooOobooooobobooooobooooon

0.516a0000000000000DO0DOO00O0O0O00DOOO00DOO0O0ODOO0ODOOOODOOODOOO
obooboobooobooobooooOoboooooooboooooooooooobooobooboooboonn
oood

ubgbooboguboobogboboobooobaoboboboooboboboboobooboboooan
gooooooobooo



44
52 DOOOOooOg

521 0O0OOO

050 0O0000OOOoOoOooooOooo

0200000000000000000000SensitivtylO0OOD0O0D0OD0D0O0OO0ODOOOODOODOODODOO
ooooooo0oooooooooooooooD 2ocmi00OO0O0O0O0oODOOO0OO0OO0ODODOOOODODDOOO
OlemODOOOOOOOOODOOOOOOCOOOOOOOOOOOODOOOOODOOOODOO

SensitivtyD 00 0 0000000000000 0000O00O0OO0O000OOODO0O0O0O0OOODOODOOOOO
gooooooooobobooboobooobooobooooooobbooboboooboobooOobDOoOooon
gobooobooobOooobooooooboooobooooboooobooooobboooboooobooooboooooboaon
oboocobOoboooooboboooboooobooboooooboooooboobooooon

Oo0oO0oO0oO0O0OOOOOOOOOOOOSensitvtyl 0000000000000 QOQCOOOOOODOO

5.2.2 SensitivityD 00000

22100000000000000 Sensitivity
000000000000000000000000
05200000000000000000000
000000000000000000000000
000000000000000000000000
000000.52M0000000000

00000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
0000000000000000.52200000
000000000000000000000000
000000000000003kHzZl00O0000

0.523a)-d00000000000000000
00000.5.23apb)0000000000000
000000.523cpd000000000000
00000000000000.5.23e)-hp00000
000000000000000O0Sensitivityd 00
0000000000000000000.5.2.3e)-h)
000000000000000000000.5.2.3
elf)000000000000000000000
0000000000000000.5.23g0h) 00
000000000000000000000000
000000000000000000000000
00000000000000000

0.5240000000000000000000
000000000000000000000000
00000000000.5.24apb)00000000
000000000000000000000000
000000000000000000000000
00000.524cpd)0000000000000
000000000000000000000000
000000000000000000000000

0.524000000000000 (225000
00000.5.23e)-h0000

opooooog goooooooono 20cenia O
000 24 0 (H=2cm W=1cm
D=0.3mmy 00 1lcm

ooooo Oo0ooog (H=2cm  W=2cm

D=2cmy 0000000000
O (H=2cm W=2cm D=2cm)

HewlettPackard 4194A

Impedance Analyze

Impedance[€2]

0 5.2.1:SensitivityD 00 0000000000000
goo

0521.00000000000000O

25000

20000

15000

Node 01-13 R

N Node 01-13 X

10000 & - == Node 05-17R __|

A | -e--Node0s17X

PR Node 09-21 R

[\ —-—-Node 09-21 X
Q

5000

5,
\\
P

100 ot T000 10000 R
b

: =
.. 100000 1000000 1dggpeas 100000000
o

-5000

-10000 -
Frequency[Hz]

05220000000000000D00O00O0O



52. 00OO0O0OO0OO

c.0oooooo 3 d.0oooooo 4

e).0000001

f.000000 2 0.000000 3 h.0OOO0OO0O0 4

0523:000000000Sensitivityd 00000000000

6.00E-06
5.00E-06
4.50E-06 -
5.00E-06 |-
4.00E-06 -

3.50E-06 - 4.00E-06

3.00E-06 |-

2.50E-06 - 3.00E-06 |-

Node01+Node02-12
— — — Node02+Node03-12
----- Node03+Node04-12 ~—
— Node04+Node0517
— - —Node03 1Node06-12

"S 2.00E-06 ———Node0l+Node02-12
— — — Node02+Node03-12
1.50B-06 " NodeOS:N\odeM—lZ —

- -Node04+Node05-42~

2.00E-06 -

Differential Conductance[S]
Differential Conductance[S]

— - - —Node05+Node06:12, . _

1.00E-06 |- Node06Node0T-12 Node06+Node07-12
— —Node07+Node0-12 10006 — —Node07+Node0s-12
5.00E-07 F= = = Node08+Node09-12 = = = Node08+Node09-12
— = Node09+Nodel0-12 = = Node(9+Node10-12
—_ R — - Nodel0+Nodel1-12
0.00E+00 NodelG:Nodel|-12 s s s . 0.00E+00 : s s s :
0 2 4 6 8 10 12 0 2 4 6 8 10 12
Node Number Node Number
1.OOE-06 1.50E-06
1.00E-06 | \
N
S.00E-07 -
— . S.00E-07
2] 72]
a, a2,
8 [5)
= 2 0.00E+00 ,
3 s
S = 12
S 000E+00 ! S
=] 12 o -5.00E-07 |
=] g
=] o
&) @)
s g L0006 |
S S00B0T | et Noded 12 b Node01 +Node02-12
o Node02+Node03 S | Sop06 =~ Node02Node03-12
£ Node03+Node04-12} &0 """ Node03+Node04-12
3 - — -Node04+Node05-12 = — - = Node04+Node05-12
— - - —Node05+Node06-12 B 00506 | - - —Node0s+Node06-12
LOOE06 o Node06+Node07-12 Node06+Node7-12
= =Node07+Node08-12 = =Node07+Node08-12
- = = Nodc08+Node09-12 2.50E-06 |-= = = Node08+Node09-12
— - Node09+Nodel0-12 — - Node09+Nodel0-12
== = Nodel0+Nodel1-12 == = Nodel0+Nodel1-12
-1.50E-06 " “3.00E-06 "

Node Number

c.0popooooO0O 3

Node Number

d.0o0ooooo 4

0 5240000000000



46
523 J0OO0OOO0OOOODO

23 000000000000 0oobOobobooo
goboooooooooooooboooooooo
ooooobs21000000000.bL.2510000
oobOO0000oOobOOo0oOooobooOobOoOoO.s.2.2
ooboooobooooooooooooooooog
O0000O0OD0ODODDOD 3kHZ] DO OO

0.5.26a)-d00000000000O0O0ODOOOO
oooO0OO0.b26apbh)y0000doooooonong
gogoOooosb26cpdidioooooonond
00000000000000.5.26e)-hJo0o000
gobooobobooobooooboooooooog
oo0o0O0O0O00ODOOO0OO0O0OO0O00000.5.2.6e)-h)
OOo0OoO0DoOO0O0oO00O0o0oobO0o0ooDooOoO.5.26
elf)0h) 000000000000 00000000
gboooboobooooboooooobooooog
go0oO0oO0o0O0OO0DOOOOOO0OO0OO0OO.s.2.6adb)o
dio0000000O000ooOo0o0ooooooDoooo
00000000000000000000O.5.1.6e)
HNOhOOOOoOOO0O0O00ooooooooooo
0.526g0O0000O00O0ODODOOODODODODODOO
ooooooboooooooooon

0527000000000000000000CDOO
gboobOoooboboooboooboooobooooboag
copooooobs20000000000000
goboobogoboboooooobooobobooboog
oboobobooooobooobobooobooooboog
oobooooboooboooobooobboooooag
gobooooooboooobooobooboooooDooo
gobooooobboooooooobbooooboooog
goboooboooboobooboooobobog
oobooobooooboooooboooooooao

050 0O0000OOOoOoOooooOooo

gooooono J00o0oooooog 20endd
000 24 0 (H=2cm W=1cm
D=0.3mmp1 00 1cm

ooooo 00000 (H=2cm W=2cm
D=2cm 0000000000
O (H=2cm W=2cm D=2cm)

oooo 1kQ

Function Generator KIKUSUI MODEL 4502

ooo NF Electronic Instruments 4025
HIGH SPEED POWER AMPLI-
FIR

goooooo YOKOGAWA DL7100

0 52200000000000000000000CO
O

Function Generator

0] Ocilloscope
Amplifier
oooo
oooooooo

—

\——— Dooo
1[k2]

gooobooooo “

0525:0000000000000D00C0

0000000000000 00000000000000000000000000000000

05270 00000000000000000000000000C0000 (2340000000000
0000000000000000.5.280000.5.2.8b0c)0d)0f)0g0h)000000000000000
000000000000000000000000000000000000000.5.1.6e00000.5.2.9

0.5.21000.5.2181 0000000000

0.5280000000000000051127000000000000O00000CO0ODO0OCDODOO
(23.7)joooOo0oO0oO0OoO0OopooOoOO0OO0o000OooOoOoODOO0OOOOoOOoOOOOOOOODOOOOO

oboocooobooobooboooobooooon



52. 00OO0O0OO0OO

-

.')-
x.

&

i

Y.

[ 3

%

r Fo Z
'_‘:':.'.-'/

a).00000001 b)0OOOOOO 2

e).0000001

f.000000 2

c)

g

47
- : >
4.9 .\
4 b
3
. LB
%
N !-_ /
S %Y
“ 74
W S
B 3 _4‘(

.0oopoooog s d.0oooooo 4

- -

).000000 3 h.0OOO0OO0O0 4

0526000000000000000000000OQ0OO

0.1 -
0.05 | A Na
[ S,
0 ,/\ PN /N}\}\\ s
~ ¢ ’ 5 > ‘.‘\.
NEETAS
= 005 | S
g)b —_—
s -01 -
E 7
— -0.15 .
< X
L -02 N
& 0
B 025 —---30°
e |/
<03 —— —9gqe
--=-120° \ /
035 F—__ 500 v
-0.4
Node Number
a).000oooo 1
0.1 r

Differential Voltage[V]

-0.5 —— Node 01-13
----- Node 03-15
0.6 Node 05-17
— —Node 07-19
0.7 — - Node 09-21
0.8 — - Node 11-23
-09 -
Node Number

c.00ooooo s

Differential Voltage[V]

Differential Voltage[V]

0.4

0.35

0.3

0.25

o
o

o
&

e

o
=1
by

-0.05

-0.1

0.9

0.8

0.7

N
'S

ot
w

——Node 01-13
—--Node 03-15
——Node 05-17
— =Node 07-19
—-—-Node 09-21
---=Node 11-23

Node Number

b)0JOooooogd 2

—— Node 01-13
""" Node 03-15 —

\ — Node 05-17
— —Node 07-19
\ — - Node 0921
— = Node 11-23

I3 5 7 9 11 13¥%
Node Number

d.0o0o0oooo 4

0527000000000



050 0O0000OOOoOoOooooOooo

48

T
T
ST

b

c).30°

b).0°

a).0000000 1

f).90° 9).120°

e).000D0001

0 5.280 (234)0000000000O0ODOO

X

R

c).30°

b).0°

a).0000000 2

f).90° 9).120° h).150 °

e.000D000 2

0 5.29:0 (234)000000000000ODO

c).30°

b).0°

a).0000000 3

£).90° g).120° h).150 °

e).00D0D000 3

0 5.210:0 (234) 0000000000000



49

52. 00OO0O0OO0OO

d).60°

c).30°

a).0000000 4

h).150 °

g).120°

e).00D0000 4

0 5.211:0 (234)0000000000000O

€).30° d).60°

b).0°

a).0000000 1

f).90° g).120° h).150 °

e).0000001

0 5212.0000000000000000000

c).30° d).60°

b).0°

a).000000o0 2

f).90° 9).120° h).150 °

e.000D000 2

0 5213:0000000000000000D000



50 050 0O0000OOOoOoOooooOooo

e).000O000 3 f).90° 9).120°

0 52140000000000000000000

a.0000000 4 c).30° d).60 °

oD

e).000000 4 £).90° g).120° h).150 °

0 5215:0000000000000000000

524 O0O0OOOODO

OO000O0sensitivtyd 0O OOOOO0OO0OO0000O0O0O0O0O0O0OO0OO0OO0O0O0000000OO0O

0.52300000Sensitvtyd 00 0000.511000000000000000000O0O0OOOCCOCO
oooopooboooogo

0526 000000000000000000000DOO00DOO0OODOOODOOOOOOODOOO
obobOoboobooooobooboooboooooooboobOobOoooooobobooobooooon
0510000000000 00O0ODO00DOODOO0O

0.52310.526800000000000000000000DODODOO0DO00ODODDOOODOODODOOODO
goooogood



51

el OO

0000000000000 0O00000OOOO0OD0O sensitivtydOOOOOOOOODOOOOOOOOO
oboboooboooooobooobooobooboobOoooooboOooboobooooOoooboooboonn
gobooooobooooobooooobbooooooooooooobooooobooooboooDboooDbobogoo
oboooboobobooobooooooobooooobooooboboooboooboooboboooobooooboaoon

Sensitivtyl 0 00 0O0O0OOOO0O000000O0OOOOCOOO00O0OOOOOO0OO0OOOOOOOOOOOO
SensitivtyD OO QO OOOO0OO0OO0OOOOOOOOOOOOOOOOOOODOOOOOOOOOOOOOOOOd
goooooooooboooboooooooooooboooboooooooooooboooDooooboOoDo
gboboobobooboobooooboboooobooboobobooooboboooboOobooooono

0s520000o00ooogoooofooooogoooogoooooooooooooooDooOoooDo
0000000000000 0000000000SensitiviydO0O0ODODO0D0D0D00D00000000000OO
gbobooboboooboobooobooboboooooboooobooboooooboooboooboan






53

O OA SensitivtyDOOOODOOOOODOOOOO

Al ODO00O0ObOOOoOobOooooo

ooboobooooboooooboboobooobooboooobooooobooobooboooooboobooon
SensitivtyD 0000 O00O0OO0O0OO0OO0O0OO0OO0OO0OOODODOOOODOODODDODDODOOOO

0000000000000 00O0O000o0O000D (Al)ODODO0OD0oOO0O0DoOooOOoOoOoOoOOoOo
obooobOoooooboobooooobooooboooooboon

F(¢) = /SL:E ds
= %/e(V(;S)QdS (A.1.1)

O000Ly [J/m3|0000000000000000000(FmM)O0000000O0¢V]O00D00000O0
oboobOobooboobobooobOobo0 e0b00oboOobOOoOOoOobOOOOOn

O000000000000000000 SensitivtyD OO0 (A1.2)000000000C;;[Fl000000
0000 «000004/0,000000000000000000000000C,;«[Fl000000000O0
oooO0Q0Q0 ¢FfmOo000o0ooooooooooUoLbjO000D00OOOOOOOOOOOOOODO
ooooo

Cip—CYy 01,1 Sfl Sfl e Sikl €1
Ci2—CFs _ Cl o _ Sty Sih . St €2
Cij; —Ci; Cij Siy Sta - SiS €k
C = Se (A.1.2)
1 G — G
(A —— YUY A.1.3
ihd -
D,
= A.l.4
b Dy ( )

0000000000000 000000O0O (AlS0D00oOoDO0UDDUOoDoOOOWEIOOODODDOOO
00000o0000oo0o00oOo0o0oooOoOo0ooOoOoooovVivioooooooooooooooooo
Oo00000oooooooooogogg oFlocoooooooooo

W= %CW (A.1.5)

goooooboobooooboboboobobboobobobooboboboooboboboboon
000000000000 12000000000D000 432000000



54 O0A SensitviydOOOOOOOOOOOOOO

9006

a).0000000 1 b)0OOOOO1 c).000ooooo 2 c.0oCoooo 2

) k)

d.0000oog 3 e)000DODODO 3 H.OOODODDOOOD 4 0).000000 4

h.00O00000S5 ).0ODOOOs ).0000D0006 k.OOODDOO 6

h.oOoooooo v m).0ooooo v n).0o00O00O00o 8 0.000000O 8

p.00000009 q.0000009 n.0000000 10 5).000000 10

0OAlLO0000O0O0O0OOSensitvtyd 00000000000



A2. 000000000
A2 O0000O0OO0OO0OO

55

O0000000000000000000000C000O00000000000000000 sSensitivityd
oboocobOoboOooboobooooobooooooboog

gooooOoOoOOOOOOOOOOOOOOOOOO (A2l)0DOO0OO0OOOOOOOOOOOOODODOO
0000000000000 00000000O0OPoissOMI 0000000000 OOOOOOOOOO

F(A) = [3 (xs + xs) ds

:/%VBQdS—/JAdS
1
zi/u(VxA)zds—/JAds

:%LﬁﬂVfofQJMds (A2.2)

000O0xE[R/mM]0000000000000000000y[@/m?0000000000000000000
AWb/mOOODO00O000D0O0OBWWmM]OOOOO0OymH OODOO000J[Am? 000000000
000000000 JAM200O000000000000000000000000 »000000000
ooooooo

000000000000 Sensitivityd D00 (A22)000000000L,,H 0000000000 vO
0000i0;000000000000000000000000L,,;«H0000000000000000
00 »mH O0O00000000000000040;00000000000000000000000000

Lig— LY, Ly, Sih St .. STh 4!
Lys— LY, B L, B Sty S ... ST V2
Lij — L, Li; Siy Sta - Sif Vk
L’ = Sy (A.2.2)
1L — Lo
Sfm — Z I I A.2.3
@] ﬁ le;j _ Lg,j ( )
D,
p= A.2.4
Day ( )

0000000000000O00000000 (A250000000000000WRIODOO0OO0OOO
oo0o0oOoOO0O000ooOO0OO0o00OoOoOOoOoOoOoooOOIAlOOOOODODOOOOOOODOOOOO
000000000oooooooooo HIOO0D00o0oooooo

wn:%LF (A.2.5)



56 O0A SensitviydOOOOOOOOOOOOOO

O A21:00000000000O 0O A22.000000000000O0

ooboooboooboooboooooooboooobooobooobooobooobooooooboboobobooboon
goooooboboooooboooboooboooobooobboobobooboobooooobbooboobooooboOoDo
gboboobobooboobooooboboooobooboooobooboooobobooonoag

oooooOo0o0oooboOo0oooooOoooOo0oOooDOooO0ooOob0O0oooOOOOoOD A2100000
goboooboooooobooobooobooboooboooooooobobooboboobobooooboooDbooDn
goooooboobooboobooooboooobobobooooboooogoo

oooo gboboooobooboooboobooobooooooobooon

oboooboobOoooooboobobooobooboooooonoo
oOo0OoO0ooO00ooO00ooooDoD A2200000000D000O
oooobooooooboobooogobboboobooooboboooDo
gbobooboooboobooboobooooboooobooono
obooooboooooboooooon

goooboobooboooboooooboooooooobooo
gbobooobooboobooobooooobooooboobooboooono
gboooboobooooboobobooobooboooboooonoo
oooOoOo0oDoOoooOoooOoooOOo A21000000DODOO
gbooobooobooooobooobooboboobooobobooobooo

00000 A2300000000000000000000000
obobOobooobooobooooboooobooobooobooooo
oboooboooboooobobooboobooooobbobooono
goooooboooobooboobooooboooooboobooboobooooobobobooboDOoboooo

gboooooobobooobooooboobobobooooooobooboboboobooooboooboobOooDo
OO00O0O0sensitvtyd 0O OOOODOOOOOOOOOOO0OOO0OO0O0O0O0OO0OOOOOOOOODODODOO

SOy
WAL

K7
S A
& D W,
NNV
O 2
S Mi?)f'
mm;\\gin?%mm

RO N
== 0000 W
O ATIRRIRR
AN
R A

N
N
N
N
N
N
\\

N
5
mu
ittt
Wiy

2,

NN
{
J

2,
2
7
A

X7
(1)
2
%

2

2
2

Q

%

K

0O A23:000000000C0O0O0
g

iy
Wi
]

7
i,
W

3

i

N
\|
i,
l‘

N
i

%y
4
VAR
RS
7]
NV
VAN LRRRS
PRRRRELED

/|
i
\

4
T
g
)
i

~3
~]
]
- [
= ]
[

/]
i
]
g
/]
i

sl

SR
iy

Ry
\N-\“%
<
Vi
i)

TR

RS
nt AR
AR

e G o
GARREEES

T LRSS
B B i

0a).0000000000 b)) 0000000000 c).000000000000

OA24FEMOOOODOOOODO



A2, O00O0OO0OOOOOO 57

0A2400000000000COO0O0O0O0ODOOOO0OO0O00O0O0O0O0O0O0O000 A249).000000
0000000000000 00000000000000000000000O0O0O0O00Ob).0D00ODODODODO
00000000000 0000000O00000O0O000DOOO0O00DO0OO00OOe).00000OOD
ocooo1oooooooooooooooooooooooDooooooDoDbooOooobDooooDooOooDon
gooooobobooobobooooobooooobooon

0A24b).00000000000000000D000O00O0OOOOOOOOOOOOOOOOOOOODO
go0oOOOoOO0O0O00 A240. 000000000000 O0O0O0OOOOOOO Y10CDCO0OOODODODODO
obobocobOobooooboooooboobooooobobooooboOoboooooboooooon

0000000000000 000000ooU00ooD0oooo00 pwH/mOODOO0O000000 vm/H)
gbobooboboooboobooooboooon

obOoooboooobood
obOooOoobooobooobon
0 1000000000000
ubobOooboobooobao
0000000 1072000000
oooooooboooobooooon
ooooooooobooboo
oobooboooboooobood

N,

M&
B

A

AP

TR

N

N

i
i
i

=]
]
=1
jsa

i/
il

i
&
f[‘

m
i

==

Vf,»;’f@ 0A2500000000000

Z S
Ny 000000000000000

TR
LAV 000000000000000
a).000000000 b).000000000 ooooooooodoboooo
0000000000O00O0O0O0
O A25:FEMOOOOOOOOODOO 0000000 oooooooon

goooboooooobooboooobooooobooooboobooboboooDoo
oo000O00000oO00OoooooOoOo0oOooOoooooooOoOODOOO0O0 20000000000
go00O0O0O000000o0ooOoO0O00000oUo0o0ooOoOOoOO0ODODOO0O0O0O0OUOObD 1200000
OO0000O0o000oDOo0oOooooogno.A260000D0O0000DOOOOO
gbobooooobooobooboobooobooboobooooooooboobooboobooooon
gbooobOobooobobooooobooooboobooooboboooooboooooboOoooon

‘ggﬂﬁNﬂlglnln!,
mmmmmt;iri?

S
SRR
Sy I

i

7

U
>

1
0,

i
Iy
Wy

0

NARRRS

R
7
h

DS

NAPRRES
RN

7
iy
N
[N

=3
=]
=1
—
=

NN
i
N
VAN
N
/NN

1)

=7
=T
=T
=1
=
=

N
N
/]
"
N
o
i
a7

o
R

a
iy
iy

N
o
"
i
N
i
%
f

<
<
%)

i

N

b

%

;

W
&
XY
>
0

<
N
7

N
i
4
1

iy

47y

QA

A
A
=

R
R

N
AR .

iy
g

|
b)ooOOOOO 1 c.0ooooog 2 d.0ooooo 2

TR
URRRR

7
i

&
=

3

=

NN
ﬁM“

0
K

N
<

RS
Mot
R

e). 0000000 3 .OOOOOO 3

0 A26:000000000Sensitivityd000000000O0O






59

oo

[1] H. Tian, W. He, and Y. Saito, A Study of Reconstruction Algorithm for Electrical Impedance Tomodtajite
2nd Japan, Australia and New Zealand Joint Seminar, pp.24-25, Kanazawa Japan, January 2002.

[2] T. Murai, and Y. Kagawa, Electrical impedance computed tomography based on a finite element model, IEEE Trans.
Biomed. Eng. Vol.32, pp.177-84, 1985.

[3] H. Endo, S. Hayano, Y. Saito, and K. Miya, Generalized vector sampled pattern matching method-theory and
applications Electromagnetic Nondestructive Evaluation, Studies Appl. Electromagn. Mech, pp.285-92, 2002.

4 0000,00,0000,0000,0000,"000000000000000O0COQOOCOOOODOCTO
goooo,’0oooooooo0, vol.22, No.9, pp.71-78, 2002.

[5] G. Dong, R. Bayford, S. Gao, Y. Saito, R. Yerworth, D. Holder, W. Yan, The application of the generalized vector
sample pattern matching method for EIT image reconstruction, Physiol. Meas., pp.449-466, 2003

[6] H. Saotome, T. Doi, S. Hayano, Y. Saito, Crack identification in metallic materials, IEEE Transaction on Magnetics
Vol. MAG-29, No.2, March, pp.1861-1864, 1993

[77 0000,0000,0000,0000,’00000000000000000000000000000
0*, 0000000000, Vol.23, No.1, pp.103-106, 2003.

[l DOOO,0000,0000,"000000000000000O0O0", 00000000000000O0
Vol.103 N0.564, pp.91-98, 2004.

Q) DO0O0Oo,00Qoo,0oo0,0000,’00oo0o0o0o0o0ooooooooO0ooooooooOoOooy,
OO00O0oooooono, Vol.24, No.1, pp.255-258, 2004.



	第1章 序論
	第2章 関数型トモグラフィ理論
	2.1 関数型トモグラフィの概要
	2.2 Sensitivity行列法
	2.2.1 Sensitivity行列法の概要
	2.2.2 Sensitivity行列の定式化

	2.3 電気双極子法
	2.3.1 電気双極子法の概要
	2.3.2 電気双極子による定式化
	2.3.3 各測定データの扱いと畳み込み演算


	第3章 システム方程式の解法
	3.1 逆問題の概要
	3.2 GVSPM法
	3.3 その他の逆問題解法との比較

	第4章 関数型トモグラフィのシミュレーション法
	4.1 有限要素法の概要
	4.2 Poissonの方程式とLaplaceの方程式
	4.3 変分学
	4.4 汎関数の導出
	4.4.1 電界系汎関数
	4.4.2 導電率を含む電界系汎関数
	4.4.3 磁界系汎関数
	4.4.4 汎関数の一般的な表記

	4.5 電界系汎関数とPoissonの方程式
	4.6 一次三角要素による空間の離散化
	4.7 汎関数と一次三角要素
	4.8 汎関数の第一変分
	4.9 複数要素の結合
	4.10 一次三角形要素の面積
	4.11 一次三角形要素の角度表現
	4.12 汎関数第二項の計算

	第5章 関数型トモグラフィ理論の検証
	5.1 シミュレーションによる検証
	5.1.1 シミュレーションの概要
	5.1.2 Sensitivity行列法のシミュレーション
	5.1.3 電気双極子法のシミュレーション
	5.1.4 シミュレーション結果の考察

	5.2 実験による検証
	5.2.1 実験の概要
	5.2.2 Sensitivity行列法の実験
	5.2.3 電気双極子法の実験
	5.2.4 実験結果の考察


	第6章 結論
	付 録A  Sensitivity行列法を用いたシミュレーション
	A.1 キャパシタンス・トモグラフィー
	A.2 磁気トモグラフィー


